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(2) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy , AYmVy , jma, B§YZo, dm ỳ, IVo
1)  YmVy d AYmVy
2) jma
3) ñ’$moQ>Ho$
4) B§YZo
5) dm ỳ
6) H$sQ>H$ZmeHo$, {dfmar agm¶Zo
7)  IVo
8) ‘hËdmMr agm¶Zo

1) YmVy d AYmVy
1) H$moï>H$mV {Xë¶mà‘mUo KZVm AgUmè¶m gmoÝ¶mnmgyZ Am{U Vm§ã¶mnmgyZ Oa 0.50 kg. À¶m g‘mZ dOZmMo XmoZ Jmoio

(M|Sy>) ~Zdbo Va ........
H$mhr nXmWmªMr KZVm nwT>rb H$moï>H$mV {Xbr Amho …

nXmW© KZVm = (103 kg/m3)
gmoZo 19.30
¶wao{ZA‘ 17.70
{ego 11.30
Vm§~o 8.92
bmoh 7.86
A°ë¶w{‘{ZA‘ 2.70
‘°¾o{eA‘ 1.75
nmUr 1.00
hdm 0.0012

n¶m©¶r CÎmao …
1) gmoÝ¶mMm Jmoim Vm§ã¶mhÿZ ‘moR>m Agob.
2) gmoÝ¶mMm Jmoim Vm§ã¶mhÿZ bhmZ Agob.
3) XmoÝhr Jmoio AmH$mamZo g‘mZM hmoVrb.

4) gmoÝ¶mMm Jmoim Vm§ã¶mÀ¶m VwbZoV ~amo~a  19.30  EdT>çm AmH$mamMm hmoB©b.
                8.96

1) According to densities given in the table, if we prepare two spheres out of Gold and Copper each

of a similar weight of 0.50 kg., then .......

Densities of Various Substances :

Substance Density = (103 kg/m3)

Gold 19.30

Uranium 17.70

Lead 11.30

Copper 8.92

Iron 7.86

Aluminum 2.70
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Magnesium 1.75

Water 1.00

Air 0.0012

Answer Options :

1) The Golden sphere will be bigger than copper

2) The Golden sphere will be smaller than copper

3) Both the spheres will be of same size

4) Golden sphere will be exactly  19.30  times than copper
                                                     8.96

2) Imbrbn¡H$s Z¡g{J©H$ I{ZO ’$m`~a H$moUVo ?
1) H$mM 2) Zm`bm°Z 3) A°ñ~oñQ>mog 4) aò m°Z

2) Which of the following is a natural mineral fiber ?

1) Glass 2) Nylon 3) Asbestos 4) Rayon

3) ‘°¾o{e`‘ g§~§{YV Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) hm hmS>m§Mm KQ>H$ Amho.
b) H°$pëe`‘ Am{U nmoQ>°{e`‘À`m gm‘mÝ` M`mnM`gmR>r ho Amdûm`H$ Amho
c) àm¡T>m§gmR>r XaamoO ‘°¾o{e`‘Mr Amdûm`H$Vm 340 {‘J«°/{Xdg AgÊ`mMm A§XmO Amho.
d) ‘mZdr àm¡T> earamV gw‘mao 50 J«°‘ ‘°¾o{e`‘ AgVo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

3) Which of the following statements regarding magnesium is/are true ?

a) It is constituent of bones.

b) It is essential for normal metabolism of calcium and potassium

c) Daily requirement of magnesium is estimated to be 340 mg/day for adult.

d) Human adult body contains about 50 gms of magnesium

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

4) ñQ>oZcog ñQ>rc_Yrc _w»` KQ>H$ ............. AmhoV.
1) {ZHo$c d cmoI§S> 2) cmoI§S>, H$m~©Z d {ZHo$c
3) H«$mo{_A_, cmoI§S>, {ZHo$c d H$m~©Z 4) {ZHo$c, H«$mo{_A_, H$m~©Z d A°ë ẁ{_{ZA_

4) The main elements of the stainless steel are ..............

1) Nickel and Iron 2) Iron, Carbon and Nickel

3) Chromium, Iron, Nickel and Carbon 4) Nickel, Chromium, Carbon and Aluminium

5) O‘©Z {gëìha hm {‘lYmVy Imbrb YmVy§À¶m {‘lUmVyZ V¶ma hmoVmo.
1) Vm§~o, OñV, H$Wrb 2) Vm§~o, {ZHo$b, OñV 3) Vm§~o, OñV 4) Vm§~o, H$Wrb

5) German Silver is alloy of......

1) Cu, Zn, Sn 2) Cu, Ni, Zn 3) Cu, Zn 4) Cu, Sn
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6) B§H$moZob (Inconel) EH$ {‘lYmVy Amho -
1) {ZHo$b, H«$mo{‘`‘ d bmoh 2) {ZHo$b Am{U Vm§~o 3) {ZHo$b Am{U H$Wrb 4) {ZHo$b Am{U OñV

6) Inconel is an alloy of -

1) Nickel, chromium and iron 2) Nickel and copper

3) Nickel and tin 4) Nickel and zinc

7) nabmBQ>Mo {‘lU Amho -
1) ’o$amBQ> Am{U {g‘|Q>mBQ> 2) Am°ñQ>oZmBQ> Am{U {g‘|Q>mBQ>
3) {g‘|Q>mBQ> Am{U boS>oã ẁamBQ  4) boS>oã ẁamBQ> Am{U ’o$amBQ>

7) Pearlite is a mixture of -

1) ferrite and cementite2) austenite and cementite

3) cementite and ledeburite 4) ledeburite and-ferrite

8) dm°Q>a Hy$ëS> H§$S>oÝgagmR>r Imbrbn¡H$s H$moUVo Q> ỳq~J ‘oQ>b/Eg Agy eH$VmV?
1) Vm§~o 2) ñQ>oZbog ñQ>rb 3) H$àmo{ZHo$b 4) darb gd©

8) Which of the following can be tubing metal/s for water cooled condensers ?

1) Copper 2) Stainless steel 3) Cupronickel 4) All of the above

9) ...... {‘l YmVyMo, Cƒ gm‘Ï¶© Vo dOZ JwUmoÎma àm‘w»¶mZo {d‘mZ Am{U Am°Q>mo‘mo~mB©b CÚmoJm§‘Ü¶o dmna H$aÊ¶mMr
{e’$mag H$aVmV.
1) hb³¶m pñQ>bÀ¶m 2) hb³¶m {Q>Q>±{ZA‘À¶m 3) hb³¶m Vm§ã¶mÀ¶m 4) hb³¶m A°ë¶w{‘{Z¶‘À¶m

9) The high strength-to-weight ratio of   .......... recommends their use in aircraft and automobile

industries.

1) light steel 2) light titanium 3) light copper 4)  light aluminium

10) {nVi Am{U H$m§ñ` Ûmao doëS>oS> Ho$bo OmVmV
1) VQ>ñW Á`moV 2) Á`moV H$‘r H$aUmar 3) Am°pŠgS>m`qPJ Á`moV 4) darbn¡H$s H$mhrhr Zmhr

10) Brass and bronze are welded by

1) neutral flame 2) reducing flame 3) oxidising flame 4) None of the above

11) ...... ho A°ë¶w{‘{Z¶‘Mo EH$ ‘hÎdmMo YmVwH$ Amho.
1) hbmBQ> 2) {H«$AmobmBQ> 3) nm¶amoë¶wgmBQ> 4) MmbH$mogmBQ>

11) ..........  is an important ore of aluminium.

1)  Halite 2)  Cryolite 3)  Pyrolusite 4)  Chalcocite

12) nm§T>è`m H$mñQ> Am`Z©Mo M‘H$Xma qH$dm nm§T>ao ñdê$n ........ À`m CnpñWVr‘wio hmoVo.
1) {g‘|Q>mBQ> 2) boS>oã ẁamBQ> 3) ‘mQ>}ÝgmBQ> 4) nabmBQ>

12) The bright or white appearance of white cast iron is due to the presence of ........

1) cementite 2) ledeburite 3) martensite 4) pearlite

13) Imbrbn¡H$s H$moUË¶m YmVyMo {ZîH$f©U Ë¶mÀ¶m jmamÀ¶m nmÊ¶mVrb ÐmdUmnmgyZ H$aVm ¶oV Zmhr?
1) K 2) Cu 3) Ag 4) Au
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13) Which of the followin9 metal cannot be extracted from aqueous solution of its salt ?

1)  K 2)  Cu 3)  Ag 4)  Au

14) H$m°ÝQ´mñQ> ao{S>AmoJ«m’$s‘Ü ò dmnaë`m OmUmè`m nm°{P{Q>ìh H$m°ÝQ´mñQ> ‘r{S>`mMo CXmhaU .........
1) hdm 2) Am°pŠgOZ 3) ~o[a`‘ 4) darbn¡H$s H$mhrhr Zmhr

14) The example of positive contrast media used in contrast radiography is ........

1) Air 2) Oxygen 3) Barium 4) None of the above

15) ewîH$ KQ> {dOoar g§MmV A°ZmoS> hm ........... Mm ~Zbobm AgVmo.
1) MnO2 2) J«°’$mBQ> 3) Cd 4) Zn

15) In dry cell battery, anode of the cellis made upof__..__

1) MnO2 2) Graphite 3) Cd 4) Zn

16) Am`moS>rZMm dmna Imbrbn¡H$s H$moUË`m AmnËH$mbrZ {ZOªVwH$sH$aUmgmR>r Ho$bm OmD$ eH$Vmo?
a) nmUr b) {dð>m c) bKdr d) ËdMm
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U d ’$º$ 3) a, c Am{U d ’$º$ 4) a, b Am{U c ’$º$

16) Iodine may be used for emergency disinfection of which of the following ?

a) Water b) Faeces c) Urine d) Skin

Answer Options :

1) a only 2) a and d only 3) a, c and d only 4) a, b and c only

17) h°~a à{H«$ òÛmao A‘mo{Z`mMo CËnmXZ Am{W©H$Ñï²>`m Imbrb `mo½` CËàoaH$ dmnaVo:
1) ßb°{Q>ZmBÁS> Eñ~oñQ>mog 2) bmoh 3) H$m°na Am°ŠgmB©S> 4) {ZHo$b

17) Manufacturing of Ammonia by Haber process uses the following suitable catalyst economically:

1) Platinized asbestos 2) Iron 3) Copper oxide 4) Nickel

18) Oa H$mñQ> Am`Z©‘Ü ò H$m~©Z ~hþVoH$ ‘wº$ AdñWoV Agob Va Ë`mbm ........ åhUyZ AmoiIbo OmVo.
1) ìhmB©Q>H$mpñQ>am°Z 2) amImS>r H$mñQ> bmoh 3) {dVibobo H$mñQ> bmoh 4) darbn¡H$s H$moUVohr Zmhr

18)  If carbon present in cast iron is mostly in the free state, it is known as ........

1) whitecastiron 2) grey cast iron 3) molten cast iron 4) None of the above

19) nm§T>è`m H$mñQ> Am`Z©Mo M‘H$Xma qH$dm nm§T>ao ñdê$n ........ À`m CnpñWVr‘wio hmoVo.
1) {g‘|Q>mBQ> 2) boS>oã ẁamBQ> 3) ‘mQ>}ÝgmBQ> 4) nabmBQ>

19) The bright or white appearance of white cast iron is due to the presence of ........

1) cementite 2) ledeburite 3) martensite 4) pearlite

20) ...... ho A°ë¶w{‘{Z¶‘Mo EH$ ‘hÎdmMo YmVwH$ Amho.
1) hbmBQ> 2) {H«$AmobmBQ> 3) nm¶amoë¶wgmBQ> 4) MmbH$mogmBQ>

20) ..........  is an important ore of aluminium.

1)  Halite 2)  Cryolite 3)  Pyrolusite 4)  Chalcocite
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21) ...... {‘l YmVyMo, Cƒ gm‘Ï¶© Vo dOZ JwUmoÎma àm‘w»¶mZo {d‘mZ Am{U Am°Q>mo‘mo~mB©b CÚmoJm§‘Ü¶o dmna H$aÊ¶mMr
{e’$mag H$aVmV.
1) hb³¶m pñQ>bÀ¶m 2) hb³¶m {Q>Q>±{ZA‘À¶m 3) hb³¶m Vm§ã¶mÀ¶m 4) hb³¶m A°ë¶w{‘{Z¶‘À¶m

21) The high strength-to-weight ratio of   .......... recommends their use in aircraft and automobile

industries.

1) light steel 2) light titanium 3) light copper 4)  light aluminium

22) Imbrbn¡H$s H$moUVo ‘ycÐì` OnmZ ‘Yrb {‘Zm‘mQ>m ¶m amoJmgmR>r H$maUr ŷV hmoVo ?
1) Au 2) Pt 3) Ag 4) Hg

22) Which of the following element was Tesponsible for Minamata epidemic caused in Japan ?

1) Au 2) Pt 3) Ag 4) Hg

23) H$emMr {df~mYm earamVrb ’o$amo{MboQ>oO {dH$a {ZpîH«$` H$ê$Z bmohmMr {Z{‘©Vr H$‘r H$aVo ?
1) {ego 2) Amg}{ZH$ 3) Vm§~o 3) gmo{S>`‘

23) .......... poisoning decrease haeme synthesis by inactivating ferrochelatase enzme.

1)  Lead 2) Arsenic 3) Copper 3) Sodium

24) S>m`{WPmoZMm H$moUVm {dñVm[aV àH$ma {eemMr ‘`m©Xm MmMUr (limit test) VnmgÊ¶mgmR>r dmnabm OmVmo ?
1) S>m`’o${Zb H$m~m©PmoZ 2) S>m`’o${Zb Wm`moPmoZ    3) {S>’o${Zb Wm`moH$m~©PmoZ 4) {S>’o$bm‘mBZ

24) Expanded form of dithizone, which is used in the limit test for lead is :

1)  Diphenyl carbazone 2) Diphenyl thioazone

3) Diphenyl thiocarbazone 4) Diphelamine

25) gm§S>nmÊ`mMm H$Mam AZoH$ df} gVV dmnaë`mZo, O{‘ZrÀ¶m daÀ`m ^mJV ......... Mo g§M¶Z hmoD$ eH$Vo.
1) Amdí`H$ nmofH$ 2) OS> YmVy
3) ‘mVrMr CËnmXH$Vm 4) darbn¡H$s Zmhr

25) A continuous application of sewage waste over several years may result in enrichment of in the

............. top soil.

1) Essential nutrients 2) Heavy metals

3)Soil productivity 4) None of the above

26) {nÊ`mÀ`m nmÊ`mV âbmoamB©S>Mo à‘mU OmñV Agë`mZo Amamo½`mda H$m` n[aUm‘ hmoVmV?
1) ’w$â’w$gmMo AmOma 2) öX`amoJ 3) âbmoamo{gg 4) ËdMm amoJ

26) What are the health effects of excess fluoride content in drinking water ?

1) Lung diseases 2) Heart disease 3) Fluorosis 4) Skin diseases

27) JwQ>PoQ> MmMUr hr ......... Mr ‘`m©Xm MmMUr VnmgÊ¶mgmR>r dmnabr OmVo.
1) {ego  2) bmoh 3) OS> YmVy 4) Amg}{ZH$

27) Gutzeit test is used in the limit test for ..........

1) Lead 2) Iron 3) Heavy metals 4) Arsenic

28) cmoh d A°ë ẁ{_{Z`_Mo à_mU ...... _Ü ò OmñV AgVo.
1) H$mir _¥Xm 2) JmimMr _¥Xm 3) Om§̂ r _¥Xm 4) jma ẁº$ _¥Xm
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28) ............ type of soil consists with maximum quantity of Iron and Alluminium.

1) Black soil 2) Alluvial soil 3) Laterite soil 4) Alkaline soil

29) {~N>mÝ`mMm CÔoe .............
1) Ho$~bbm AmÐ©VonmgyZ g§a{jV H$am 2) YmVyÀ`m AmdaUmnmgyZ J§OÊ`mnmgyZ g§ajU H$am
3) `m§{ÌH$ BOm nmgyZ Ho$~bMo g§ajU H$am 4) Am‘©[a¨Jbm dmVmdaUmVrb n[apñWVrnmgyZ g§ajU H$am

29) The purpose of bedding is to .............

1) protect cable from moisture

2) protect metallic sheath from corrosion

3) protect cable from mechanical injury

4) protect armouring from atmospheric conditions

30) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) YmVyÀ`m n¥ð>^mJmMr CËgO©Zj‘Vm gm‘mÝ`V… bhmZ AgVo.
2) dmT>Ë`m Vmn‘mZmgh H§$S>ŠQ>aMr CËgO©Z H$‘r hmoVo.
3) Am°ŠgmB©S>À`m Wam§À`m CnpñWVr‘wio YmVyÀ`m n¥ð>^mJmÀ`m CËgO©ZmV bjUr` dmT> hmoD$ eH$Vo.
4) darb gd©

30) Which of the following statements is incorrect ?

1) Emissivity of metallic surfaces is generaily small.

2) Emissivity of conductors decreases with increasing temperature.

3) The presence of oxide layers may significantly increase the emissivity of metallic surfaces.

4) All of the above

31) {dYmZ … YmVy CîUVm d drOoMo gwdmhH$ AgVmV.
H$maU … YmVy ghO dmH$Umao AgVmV d Ë`mnmgyZ Vma ghO {Z_m©U H$aVm òVo.
1) {dYmZ d H$maU gË` AmhoV. {dYmZmMo H$maUmZo {Xcoco ñnï>rH$aU ~amo~a Amho.
2) {dYmZ d H$maU gË` Amho na§Vw {dYmZmMo H$maUmZo {Xcoco ñnï>rH$aU ~amo~a Zmhr.
3) {dYmZ gË` Amho, H$maU MyH$ Amho.
4) {dYmZ MyH$ Amho, H$maU gË` Amho.

31) Assertion (A) : Metals are good conductors of heat and electricity.

Reason (R) : Metals are malleable and ductile.

1) Both (A) and (R) are true. (R) is correct explanation of (A).

2) Both (A) and (R) are true. But (R) is not correct explanation of (A).

3) (A) is true, (R) is false.

4) (A) is false, (R) is true.

32) YmVy§À`m g§X^m©Vrc H$moUVo {dYmZ ~amo~a Zmhr ?
1) YmVy gwdmhH$ AgVmV. 2) YmVy§Mm n¥ð>^mJ MH$MH$sV AgVmo.
3) YmVy dY©Zr` d V§Vyj‘ AgVmV 4) YmVy§_YyZ {dÚwV-Mw§~H$s` char àdm{hV hmoVmV.

32) Which statement regarding metals is not correct ?

1) Metals are good conductors. 2) Metals have shining surface,

3) Metals are malleable and ductile. 4) Metals transmit electromagnetic waves.
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33) AmJnoQ>rÀ¶m ~mOydarc nÅ>rda ............. nXmW© dmnabm OmVmo.
1) nmoQ>°{e¶‘ ³bmoaoQ> 2) A±{Q>‘Zr gë’$mB©S> 3) bmb ’$m°ñ’$ag 4) {ndim ’$m°ñ’$ag

33) Substance ...... is used on the side of safety match box.

1) Potassium chlorate 2) Antimony suiphide 3) Red phosphorus 4) Yellow phosphorus

34) Imbrbn¡H$s H$moUË`m H$qQ>J Qy>b ‘Q>o[a`b‘Ü ò OmñV H$S>H$nUm Amho?
1) {‘lYmVyMo ñQ>rb 2) HSS 3) Q>§JñQ>Z H$m~m©BS> 4) S>m`‘§S>

34) Which one of the following cutting tool materials have higher hardness ?

1) Alloy steel 2) HSS 3) Tungsten carbide 4) Diamond

35) Imcrc {Xcoë¶m {dYmZmn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) {ham {dÚwV Xþdm©hH$ Amho. b) J«°’$mBQ> ‘Ü¶o {Û{‘Vr¶ nÌH$mgmaIr g§aMZm AgVo.
c) J«°’$mBQ> {dÚwV dmhH$ Amho. d) IS>H$mcm ^moH$ nmS>m¶cm {ham dmnaVmV
n¶m©¶r CÎmao :
1) darc gd© 2) ’$º$ (a),(b),(c) 3) ’$º$ (a),(b) 4) ’$º$ (b),(c)

35) Which of the following statements are correct ?

a) Diamond is a non-conductor of electricity.

b) Graphite has a to dimensional sheet like structure.

c) Graphite conducts electricity.

d) Diamond is used for rock drilling.

Answer Option :

1) All of the above 2) Only (a),(b),(c) 3) Only (a),(b) 4) Only (b),(c)

36) {ham ...... Amho.
1) YmpËdH$ ñ’${Q>H$ 2) ghg§¶wJr ñ’${Q>H$ 3) Am¶Zr ñ’${Q>H$ 4) aoUy ñ’${Q>H$

36) Diamond is a .....

1) Metallic Crystal 2) Covalent Crystal 3) Ionic Crystal 4)  Molecular Crystal

37) Imbrbn¡H$s H$m¶ H$m~©ZMo Anén Zmhr.
1) S>m`‘§S> 2) ’w$boarZ 3) ’o$amogrZ 4) J«°’$mBQ>

37) Following is not allotrope of carbon.

1) Diamond 2) Fullerene 3) Ferrocene 4) Graphite

38) Imbrbn¡H$s H$moU H$m~©ZMm AnY‘u Zmhr ?
1) J«°’$mBQ> 2) J«m{’$Z 3) ’w$boarZ 4) H$moUVmhr Zmhr

38) Which of the following is not an allotrope of carbon ?

1) Graphi 2) Graphene 3) Fullerene 4) None

39) dZñnVr qH$dm àmUr CËnÎmrÀ`m dñVy§Mo d` {ZYm©[aV H$aÊ`mgmR>r Imbrbn¡H$s H$moUË`m H$m~©Z g‘ñWm{ZHo$Mm dmna
Ho$bm OmVmo?
1) H$ - 12 2) H$ - 13 3) H$ - 14 4) darbn¡H$s Zmhr
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39) Which of the following carbon isotopes is used to determine the age of the objects of plant or

animal origin ?

1) C - 12 2) C - 13 3) C - 14 4) None of the above

40) H$moiemMo A§XmOo {díbofU XoVo ......
1) H$m~©Z, hm`S´moOZ, Am°pŠgOZ Am{U amI `m§gmaIr {d{dY agm`Zo.
2) Amobmdm, pñWa H$m~©Z Am{U amI `m§À`m à‘mUmZwgma Q> o̧$dmar åhUyZ B§YZ KQ>H$,
3) Amobmdm, ApñWa nXmW©, pñWa H$m~©Z Am{U amI `m§À`m dOZmZwgma Q> o̧$dmar.
4) darbn¡H$s H$mhrhr Zmhr

40) The proximate analysis of coal gives ......

1) various chemicals like carbon, hydrogen, oxygen and ash.

2) fuel constituents as percentage by volume of moisture, fixed carbon and ash,

3) percentage by weight of moisture, volatile matter, fixed carbon and ash.

4) None of the above

41) XJS>r H$moiemVrb H$m~©ZÀ¶m à‘mUmZwgma H$moUVm CVaVm H«$‘ ~amo~a Amho ?
1) {~Qw>{‘Zg - A±W«mB©Q> - {c¾mB©Q> - nrQ> 2) {~Qw>{‘Zg - {c¾mB©Q> - A±W«mgmBQ> - nrQ>
3) A±W«mgmBQ> - {~Qw>{‘Zg - {c¾mB©Q> - nrQ> 4) A±W«mgmBQ> - {c¾mB©Q> - {~Qw>{‘Zg - nrQ>

41) Which descending order is correct as per percentage of carbon in coal ?

1) Bituminous - Anthracite - Lignite - Peat 2) Bituminous - Lignite - Anthracite - Peat

3) Anthracite - Bituminous - Lignite - Peat 4) Anthracite - Lignite - Bituminous - Peat

42) 'a~amMo ìhëH$ZrH$aU' ¶m à{H«$¶o‘Ü¶o ...... hm H$ÀÀ¶m a~am~amo~a EH$m {d{eï> Vmn‘mZmg VmndVmV.
1) nmoQ>°{e¶‘ 2) H°$pëe¶‘ 3) ’$m°ñ’$ag 4) gë’$a

42) In the process of ‘vulcanization of rubber’, ______ is heated with crude rubber at particular

temperature.

1) Potassium 2) Calcium 3) Phosphorus 4) Sulphur

7) jma
1) ŠbmCS> grqS>JgmR>r H$moUVo agm`Z dmnabo OmVo?

1) AgI 2) NaOH 3) NaCl 4) NH
4
OH

1) Which is the chemical used for cloud seeding ?

1) AgI 2) NaOH 3) NaCl 4) NH
4
OH

2) NH
3
 Am{U BF

3
 À¶m AmH$mam§~Ôb Imbrbn¡H$s H$moUVm n¶m©¶ AMyH$ Amho?

1) NH
3
 - {na°{‘S>b Am{U BF

3
 - {na°{‘S>b 2) NH

3
 - Am{U BF

3
 - ßboZa

3) NH
3
 -  ßboZa Am{U BF

3
 - {na°{‘S>b 4) NH

3
 - Am{U BF

3
 - ßboZa

2) Which of the following is correct for the shapes of NH
3
 and BF

3 
?

1) NH
3
 - Pyramidal and  BF

4 
- Pyramidal 2) NH

3
 - Planar and  BF

3
 - Planar

3) NH
3
 - Planar and  BF

3 
- Pyramidal 4) NH

3
 - Pyramidal and  BF

3
 - Planar
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3) {g‘|Q>Mr {Z{‘©Vr hr Imcrcn¡H$s Hw$R>ë¶m KQ>H$m§nmgyZ Pmcocr Amho ?

1) CaO-SiO2 - Al
2
O

3
2) CaO-Al

2
O

3
 - MgO

3) SiO
2
-Al

2
O

3
 -AlCl

5
4) CaO-SiO

2
 - AlCl

3
3) The composition of cement is :

1) CaO-SiO
2
 - Al

2
O

3
2) CaO-Al

2
O

3
 - MgO

3) SiO
2
-Al

2
O

3
 -AlCl

5
4) CaO-SiO

2
 - AlCl

3

4) ........... hm gm¡å¶ jnUH$ Amho. Omo ’$º$ H$m~m}{Zc JQ>mMo jnU BVa JQ> CXm. Zm¶Q´>mo, H$m~m}³Pr, BñQ>a, Xþhoar ~§Y
AgVmZm H$aVmo.
1) LiAlH4 2) NA - NH3 3) NaBH4 4) H2-Ni

4) The mildest reducing agent which reduces only carbonyl group in presence of nitro, carboxyl,

double bond and ester group is .........

1) LiAlH
4

2) NA - NH
3

3) NaBH
4

4) H
2
-Ni

5) gmo{S>`‘ ŠbmoamB©S>À`m BboŠQ´mo{b{gg‘Ü ò, {dVibobo gmo{S>`‘ ŠbmoamB©S> ho Ë¶mMm {db¶ q~Xy 808°C À`m Imbr R>odbo
OmVo :
1) nmoQ>°{e`‘ ŠbmoamB©S> 2) ‘°¾o{e`‘ ŠbmoamB©S> 3) H°$pëe`‘ ŠbmoamB©S> 4) {b{W`‘ ŠbmoamB©S>

5) In the electrolysis of sodium chloride, molten sodium chloride is kept molten at 600°C, below

its melting point of 808°C by addition of :

1) Potassium chloride 2) Magnesium chloride 3) Calcium chloride 4) Lithium chloride

6) ãbrqMJ nmdS>a‘Ü ò Imbrb Jmoï>tMm g‘mdoe hmoVmo :
1) H°$pëe`‘ H$m~m}ZoQ> 2) H°$pëe`‘ hm`nmoŠbmoamBQ> 3) H°$pëe`‘ gë’o$Q> 4) ‘°¾o{e`‘ H$m~m}ZoQ>

6) Bleaching powder consists of :

1) Calcium Carbonate 2) Calcium Hypochlorite

3) Calcium Sulfate 4) Magnesium Carbonate

7) ßbmñQ>a Am°’$ n°[ag‘Ü ò ........ ho g§¶wJ AgVo.
1) H°$pëe`‘ gë’o$Q> 2) ‘°¾o{e`‘ gë’o$Q> 3) H°$pëe`‘ H$m~m}ZoQ> 4) ‘°¾o{e`‘ H$m~m}ZoQ>

7) Plaster of Paris consist of the following :

1) Calcium Sulfate 2) Magnesium Sulfate

3) Calcium Carbonate 4) Magnesium Carbonate

8) Imcrcn¡H$s H$moUVm H°$pëe`_ H$m~m}ZoQ>Mm àH$ma Amho ?
1) H$mM 2) H$mJX 3) g§J_ada 4) YwÊ`mMm gmoS>m

8) Which of the following is a variety of Calcium Carbonate ?

1) Glass 2) Paper 3) Marble 4) Washing Soda

9) ""ßcmñQ>a Am°\$ n°arg'' H$emnmgyZ {_idVmV ?
1) {g_|Q> 2) cmB©_ñQ>moZ 3) {Oßg_ 4) ~m°ŠgmB©Q>

9) "Plaster of Paris" is obtained from :

1) Cement 2) Limestone 3) Gypsum 4) Bauxite
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10) Wm`‘ Am°Bb‘Ü ò CnpñWV ‘w»` KQ>H$ Amho ....
1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue

10) The principal constituent present in thyme oil is ....

1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue

11) `mo½` OmoS>çm Owidm …
A) YwÊ`mMm gmoS>m i) gmo{S>A_ ~m` H$m~m}ZoQ>
B) MwZIS>r ii) nmoQ>°{eA_ A°ë ẁ{_{ZA_ gë\o$Q>
C) VwaQ>r iii) gmo{S>A_ H$m~m}ZoQ>
D) ImÊ`mMm gmoS>m iv) H°$pëeA_ H$m~m}ZoQ>
n¶m©¶r CÎmao …

(A) (B) (C) (D)
1) (i) (iii) (ii) (iv)
2) (iii) (i) (iv) (ii)
3) (iii) (iv) (ii) (i)
4) (i) (ii) (iii) (iv)

11) Make proper pairing :

A) Washing Soda i) Sodium bi-carbonate

B) Lime Stone ii) Potassium Aluminium Sulphate

C) Alum iii) Sodium Carbonate

D) Baking Soda iv) Calcium Carbonate

Answer Options :

(A) (B) (C) (D)

1) (i) (iii) (ii) (iv)

2) (iii) (i) (iv) (ii)

3) (iii) (iv) (ii) (i)

4) (i) (ii) (iii) (iv)

12) ...... À`m Cƒ-ñVar` àXe©Zm‘wio {‘Zm‘mQ>m amoJ hmoVmo.
1) {‘WmBb nmam 2) mercuric oxide 3) YmVyMm nmam 4) nmam gm`ZmBS>

12) The high-level exposure to ...... causes Minamata disease.

1) methyl mercury 2) mercuric oxide 3) metallic mercury 4) mercury cyanide

13) IR ñnoŠQ´mo’$moQ>‘rQ>a‘Yrb Z‘wZm gob .......... ~Zbobm AgVmo.
1) ½bmg 2) ¹$mQ²O© 3) nmoQ>°{e`‘ ~«mo‘mBS> 4) nm°{bñQ>r[aZ

13) The sample cell in an IR spectrophotmeter is made up of ..........

1)  Glass 2) Quartz 3) Potassium bromide 4)  polystyrene

14) nmÊ¶mMr {MañWm¶r Xþî’o$ZVm Xþa H$aÊ¶mgmR>r ............ hm/ho A{^H$maH$ dmnaVmV.
1) ’$º$ YwÊ¶mMm gmoS>m 2) ’$º$ gmo{S>A‘ ho³Pm‘oQ>m’$m°ñ’o$Q>
3) (1) Am{U (2) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr
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14) The chemical reagent used to remove permanent hardness of water is / are

1) only washing soda 2) only sodium hexametaphosphate

3) Both (1) and (2) 4) None of the above

15) bmoh nm`amBQ²g (FeS) Obr` dmVmdaUmda {dZmeH$mar à^md Q>mHy$ eH$VmV H$maU Ë`m§Mo Am°pŠgS>oeZ gmoS>Vo ......
1) gëâ ỳ[aH$ A°{gS> 2) hm`S´moŠbmo[aH$ A°{gS> 3) Zm`{Q´H$ A°{gS> 4) darbn¡H$s Zmhr

15) Iron pyrites (FeS.) can have devastating impact on the aquatic environment because their oxidation

releases ......

1) Sulphuric acid 2) Hydrochloric acid 3) Nitric acid 4) None of the above

16) S>m`PmoQ>m`PoeZ‘Ü ò, gd©gm‘mÝ`nUo dmnabo OmUmao Q>m`Q§́Q> ........... ho Amho.
1) gmo{S>`‘ Wm`mogë’o$Q> 2) gmo{S>`‘ H$m~m}ZoQ> 3) gmo{S>`‘ gë’o$Q> 4) gmo{S>`‘ Zm`QóQ>

16) In the diazotization, the most commonly used titrant is ...........

1) Sodium thiosulphate 2) Sodium carbonate

3) Sodium sulphate 4) Sodium nitrite

17) ImÊ`mÀ`m gmoS>çmMo emór` Zmd -
1) gmo{S>A‘ ~m`H$m~m}ZoQ> 2) gmo{S>A‘ H$m~m}ZoQ> 3) H°$b{eA‘ H$m~m}ZoQ> 4) H° c{eA‘ ŠcmoamB©S>

17) Banking Soda is known as

1) Sodium bicarbonate 2) Sodium carbonate 3) Calcium carbonate 4) Calcium chloride

18) àmo’$mBbÀ`m H$mhr ^mJmV nO©Ý` Am{U H°$pëe`‘ H$m~m}ZoQ> O‘m hmoÊ`mÀ`m à{H«$ òbm Ago åhUVmV.
1) nm°S>Pmobm`PoeZ 2) H$m~m}ZoeZ 3) H°$pëe{’$Ho$eZ 4) {S>H°$pëe{’$Ho$eZ

18) Process of precipitation and accumulation of calcium carbonate in some part of the profile is

termed as

1) Podzolization 2) Carbonation 3) Calcification 4) Decalcification

8) ñ’$moQ>Ho$
1) Imbrbn¡H$s H$moUVo àmW{‘H$ ñ’$moQ>H$ Amho?

1) ANFO 2) S>m`Zm‘mBQ> 3) nmam ’w$b{‘ZoQ> 4) HMX

1) Which of the following is a primary explosive?

1) ANFO 2) Dynamite 3) Mercury fulminate 4) HMX

2) Imbrbn¡H$s H$moUVo Zm`Q´m‘mBZ ñ’$moQ>H$ Amho?
1) TNT 2) RDX 3) Picric acid 4) PETN

2) Which of the following is a nitramine explosive?

1) TNT 2) RDX 3) Picric acid 4) PETN

3) C
3
H

6
N

6
O

6
 ho H$moUË`m ñ’$moQ>H$mMo amgm`{ZH$ gyÌ Amho?

1) nmam ’w$b{‘ZoQ> 2) Q>o{Q´b 3) ANFO 4) RDX

3) C
3
H

6
N

6
O

6
 is the chemical formula of which explosive?

1) Mercury fulminate 2) Tetryl 3) ANFO 4) RDX
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4) Am¶.B©.S>r. .... ho Imbrbn¡H$s H$emMo g§{já ê$n Amho ?
1) Bånm°Q>©ÝQ> E³gßbmo{gìh {S>ìhmBg 2) BåàmodmBP²S> EŠgßcmo{gìh {S>ìhmBg
3) B{¾Q>oS> EŠgßcmo{gìh {S>ìhmBg 4) BÝâbm°‘oQ´>r EŠgßcmo{gìh {S>ìhmBg

4) IED is the short form of which of the following ?

1) Important Explosive Device 2) Improvised Explosive Device

3) Ignited Explosive Device 4) Inflammatory Explosive Device

5) 'PETN' ho Imbrbn¡H$s H$moUË¶m ñ’$moQ>H$mMo g§{já ê$n Amho ?
1) noÝQ>m Q´>m¶Zm¶Q´>oQ> 2) noÝQ>m E[a{W«Q>mob Q>oQ´>mZm¶Q´>oQ>
3) noÝQ>m E[aW«mo‘ Q´>m¶Zm¶Q´>oQ> 4) noÝQ>m Zm¶Q´>oQ>

5) ‘PETN’ is the short form of which of the following explosives ?

1) Penta trinitrate 2) Penta erythritol tetranitrate

3) Penta erythrom trinitrate 4) Penta nitrate

6) JZ nmdS>a ho EH$ {_lU Amho Oo noQ>{dë`mg amgm`{ZH$ à{H«$`m hmoD$Z ñ\$moQ> hmoVmo. `m {_lUmV nwT>rc ~m~r AgVmV:
a) nmoQ>°{eA‘ Zm`Q´>oQ> b) H$moiemMr nmdS>a       c) gë\$a      d) gmo{S>A‘ H$m°~m}ZQ e) H°$pëeA_ gë\o$Q>
n¶m©¶r CÎmao …
1) (a), (b), (c) 2) (b), (c), (d) 3) (a), (b), (e) 4) (a), (c), (d)

6) Gun powder is a mixture which when ignited a number of chemical reactions take place producing

explosion. It consist of :

a) Potasium nitrate b) Powdered charcoal c) Sulphur

d) Sodium Carbonate e) Calcium Sulphate

Answer Options :

1) (a), (b), (c) 2) (b), (c), (d)  3) (a), (b), (e) 4) (a), (c), (d)

7) eó A{Y{Z¶‘, 1959 AÝd¶o ""Xmê$Jmoim'' ¶mMm AW©, H$moUË¶mhr A{¾eóm§gmR>r bmJUmam Xmê$Jmoim Agm AgyZ,
Ë¶mV nwT>rb Jmoï>tMm g‘mdoe hmoVmo …
A) A{¾~mU, ~m°å~, ñ’$moQ>Jmoio Am{U Hw$bnr Jmoio. ~) bmR>r, MmbVmZm dmnamd¶mMr H$mR>r Am{U hm°H$s ~°Q>.
H$) n{cVo d Kf©UZ{bH$m. S>) Xmê$ Jmoù¶mMo ^mJ d Vmo V¶ma H$aÊ¶mMr ¶§Ì gm‘J«r
AMyH$ n¶m©¶r CÎma {ZdS>m.
1) n¶m©¶ A, ~ Am{U H$ AMyH$ AmhoV. 2) n¶m©¶ ~, H$ Am{U S> AMyH$ AmhoV.
3) n¶m©¶ A, H$ Am{U S> AMyH$ AmhoV. 4) gd© n¶m©¶ AMyH$ AmhoV.

7) Under the Arms Act, 1959, "Ammunition" means ammunition for any fire arm and includes :

a) rockets, bombs, grenades and shells.

b) lathis, walkingsticks and hockey bat.

c) fuses and friction tubes.

d) parts of and machinery for manufacturing, ammunition.

Choose the correct option.

1) Options a, b and c are correct 2) Options b, c and d are correct

3) Options a, c and d are correct 4) All options are correct
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8) ẁEZÀ`m YmoH$mXm`H$ dñVy§À`m dJuH$aUmZwgma, dJ© 3 hm _____________ Amho.
1) ñ’$moQ>Ho$ 2) ÁdbZerb Ðd
3) {H$aUmoËgJu gm‘J«r 4) Am°pŠgS>m`qPJ nXmW©, g|{Ð` noamoŠgmBS>

8) As per the UN classification of dangerous goods, Class 3 is ____________.

1) explosives 2) flammable liquid

3) radioactive material 4) oxidising substances, organic peroxides

9) Vob, noQ´mob, J«rg qH$dm Vob-AmYm[aV n|Q²g‘Yrb AmJ Imbrbà‘mUo dJuH¥$V AmhoV :
1) dJ© A 2) dJ© B 3) dJ© C 4) dJ© D

9) Fires in oils, petrol, grease or oil-based paints are classified as :

1) Class A 2) Class B 3) Class C 4) Class D

10) ‘w»` amgm`{ZH$ KQ>H$ åhUyZ ‘moZmoA‘mo{Z`‘ ’$m°ñ’o$Q> Agbobr H$moaS>r amgm`{ZH$ nmdS>a _______ dJm©Mr AmJ
{dPdÊ`mgmR>r dmnabr OmD$ eH$Vo.
1) A, B Am{U C 2) B Am{U C ’$º$ 3) D ’$º$ 4) A Am{U C ’$º$

10) Dry chemical powder having monoammonium phosphate as the main chemical constituent can be

used for extinguishing Class ________ fires.

1) A, B and C 2) B and C only 3) D only 4) A and C only

11) IS 15683 Zwgma H$moUVm a§JrV ~±S> H$m~©Z S>m`Am°ŠgmBS> A{¾em‘H$ §̀Ì Xe©dVmo?
1) bmb 2) {Zim 3) nm§T>am 4) H$mim

11) As per IS 15683, which coloured band denotes the carbon dioxide fire extinguisher?

1) Red 2) Blue 3) White 4) Black

12) AmXe© AmJ-à{VamoYH$ gm‘J«rMo JwUY‘© AmhoV
a) CîUVo‘wio Ë`mMo {dKQ>Z hmoD$ Z ò.
b)CîUVo‘wio OmñV à‘mUmV {dñVmê$ Z ò.
c) W§S> Pmë`mda Vo doJmZo AmHw§$MZ nmdbo nm{hOo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (A) Am{U (§~) 2) ’$º$ (§~) 3) darb gd© 4) ¶mn¡H$s Zmhr

12) The properties of ideal fire-resisting materials are

a) It should not get disintegrated due to heat.

b) Tt should not expand excessively due to heat.

c) It should contract rapidly on cooling.

Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above

13) Imbrbn¡H$s H$moUVo {Z §̀ÌU Am{U [abo {~pëS§>J YmoŠ`m§‘Ü ò g‘m{dï> Amho?
1) noQ´mob gmR>dU qH$dm {dVaU gw{dYm 2) B‘maVrÀ`m g§aMZoMo W‘©b ZwH$gmZ
3) Ywam‘wio BVa CnH$aUm§Mo ZwH$gmZ hmoVo 4) eº$sZo `m§{ÌH$ ZwH$gmZ
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13) Which of the following is included in control and relay building hazards ?

1) Gasoline storage or dispensing facilities

2) Thermal damage caused to the building structure

3) Smoke damage caused to other equipment

4) Mechanical damage by force

14) ñ’$moQ>Ho$ H$mT>VmZm ‘yb ŷV gë’$aMm emoY `mÛmao Ho$bm OmVmo:
1) g|{Ð` gm°ëìh|Q> AH©$ 2) nmÊ`mMm AH©$
3) AëH$br AH©$ 4) nm`ar{S>Z AH©$

14) The detection of elemental sulphur during the extraction of explosives is done with:

1) organic solvent extract 2) water extract

3) alkali extract 4) pyridine extract

15) ~oqS>JMm CÔoe .............
1) Ho$~bbm AmÐ©VonmgyZ g§a{jV H$aUo 2) YmVyÀ`m AmdaUmnmgyZ J§OÊ`mnmgyZ g§ajU H$aUo
3) `m§{ÌH$ BOm nmgyZ Ho$~bMo g§ajU H$aUo 4) Am‘©[a¨Jbm dmVmdaUmVrb n[apñWVrnmgyZ g§ajU

15) The purpose of bedding is to .............

1) protect cable from moisture

2) protect metallic sheath from corrosion

3) protect cable from mechanical injury

4) protect armouring from atmospheric conditions

9) B§YZo
1) dmhVwH$sgmR>r B§YZ åhUyZ dmnaÊ¶mV ¶oUmè¶m H$m°àoñS> ~m¶moJ°g ‘Ü¶o ............. % n¶ªV {‘WoZMr loUr dmT> H$aVmV.

1) 65 2) 75 3) 50 4) 98
1) Compressed Biogas used as fuel for transportation is upgraded to ...... % purity of Methane.

1) 65 2) 75 3) 50 4) 98

2) {S>Pob OZaoQ>aÛmao dmnabo OmUmao EH$ {bQ>a B§YZ gamgar CËnmXZ H$aVo :
1) 0.7 {H$bmo CO2 2) 1 {H$bmo CO2 3) 1.7 {H$bmo CO2 4) 2.7 {H$bmo CO2

2) One litre of fuel consumed by a diesel generator produces an average of :

1) 0.7 kg of CO2 2) 1 kg of CO2 3) 1.7 kg of CO2 4) 2.7 kg of CO2

3) ‘opŠgH$moÀ`m AmImVm‘Ü ò 20 E{àb 2010 amoOr S>rndm°Q>a hmoam`PZ Am°Bb [aJ ñ’$moQ>m‘wio _______ J°bZ H$ÀÀ`m
VobmMr JiVr Pmbr.
1) gw‘mao 10 Xebj 2) 50 Xebj 3) gw‘mao 40 Xebj 4) gw‘mao 4 Xebj

3) The Deepwater Horizon oil rig explosion on 20 April 2010 in the Gulf of Mexico led to the spill

of _________ gallon crude oil.

1) about 10 million 2) 50 million 3) about 40 million 4) about 4 million
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4) ........  ho B§YZ OdiOdi nyU©nUo {‘WoZnmgyZ ~Zbobo Agbo Var Ë`mV BWoZ, àmonoZ, ã ẁQ>oZ Am{U n|Q>oZ ¶m dm ỳ§Mo
g§{‘lU AgVo.
1) Z¡g{J©H$ dm ỳ 2) BZQ>©J°g 3) {ZAm°Z dm ỳ 4) PoZm°Z dm ỳ

4) ...... is composed almost entirely of methane although it does contain small amounts of other

gases, which  are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas

5) KaJwVr J°g (Ec².nr.Or.)Mo à_wI KQ>H$ ............ ho AgVmV.
1) {_WoZ, BWoZ 2) {_WoZ, ã ỳQ>oZ 3) ã ỳQ>oZ, àmonoZ 4) ã ỳQ>oZ, Am ²̀gmoã ỳQ>oZ

5) The main ingredients in the cooking gas (L.P.G.) are :

1) Methane, Ethane 2) Methane, Butane 3) Butane, Propane 4) Butane, Isobutane

6) Jmo~a J°g_Ü ò H$moUVm dm ỳ AgVmo ?
1) BWoZ 2) {_WoZ 3) àmonoZ 4) ã ẁQ>oZ

6) Which gas is present in Gobar-gas ?

1) Ethane 2) Methane 3) Propane 4) Butane

7) Z¡g{J©H$ dm ỳMm àmW{_H$ KQ>H$ H$moUVm Amho ?
1) {_WoZ 2) ã ẁQ>oZ 3) àm°noZ 4) BWoZ

7) Which is the primary component of natural gas ?

1) Methane 2) Butane 3) Propane 4) Ethane

8) Z¡g{J©H$ dm¶y‘Ü¶o ...... Mo à‘mU ‘w»¶Ëdo H$ê$Z AgVo.
1) ã¶wQ>oZ 2) àmonoZ 3) {‘WoZ 4) BWoZ

8) Natural gas mainly consistes of

1) Butane 2) Propane 3) Methane 4) Ethane

9) Jmo~a J°gMm à_wI KQ>H$ ...... Amho.
1) {_WoZ 2) H$m~©Z S>m`Am°ŠgmB©S> 3) A°{g{Q>crZ 4) B{W{cZ

9) The chief constituent of Gobar gas is :

1) Methane 2) Carbon dioxide 3) Acetylene 4) Ethylene

10) Jmo~a J°g / ñ ẁEO J°g / ~m`mo J°g ømVrc dm ỳ H$moUVm?
1) BWoZ 2) {_WoZ 3) hm`S´>moOZ 4) Am°ŠgrOZ

10) The content of Gobar gas / Suyez gas / Bio-gas is

1) Ethane 2) Methane 3) Hydrogen 4) Oxygen

11) ........ ho OdiOdi g§nyU©nUo {‘WoZnmgyZ ~Zbobo Amho Oar Ë`mV BVa dm ỳ§Mm g‘mdoe H$‘r Amho. ho BWoZ, àmonoZ,
ã ẁQ>oZ Am{U n|Q>oZ AmhoV.
1) Z¡g{J©H$ dm ỳ 2) BZQ>©J°g 3) {ZAm°Z dm ỳ 4) PoZm°Z dm ỳ

11) ...... is composed almost entirely of methane although it does contain small amounts of other

gases. These are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas
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12) Imbrbn¡H$s H$moUË`m B§YZ-dm ẁ {‘lUm‘wio hm`S´moH$m~©ZMo H$‘r CËgO©Z hmoVo?
1) Xw~io B§YZ {‘lU
2) g‘¥Õ B§YZ {‘lU
3) ñQ>mo{MAmo‘o{Q´H$ B§YZ hdoMo {‘lU
4) B§YZ hdoÀ`m {‘lUmMm hm`S´moH$m~©Ýgda H$moUVmhr n[aUm‘ hmoV Zmhr

12) Which of the following fuel-air mixture results in less hydrocarbon emission ?

1) Lean fuel mixture

2) Rich fuel mixture

3) Stoichiometric fuel air mixture

4) Fuel air mixture does not have any effect on hydrocarbons

13) Ho$.ìhr.Am¶.gr. O¡d dm¶y àH$ënmMo ’$m¶Xo Ago AmhoV …
a) ñdÀN> Am{U Cƒ Cî‘m§H$ B§YZ nwadR>m. b) AZEamo~rH$[aË¶m nMbobr ñbar XoVo.
c) O§JbmMm Zme H$‘r H$aVo. d) ZmB©Q> gm°B©bMm amoJOZH$ ^ma H$‘r H$aVo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/AmhoV ?
1) (a), (b) Am{U (d) 2) (b), (c) Am{U (d) 3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (c)

13)  Benefits of KVIC biogas plant are :

a) Supplies clean and high calorific fuel.

b) Provides anaerobically digested slurry.

c) Reduces the destruction of forests.

d) Reduces the pathogenic load of night soil.

Which of the above statement/s is/are correct ?

1) (a), (b) and (d) 2) (b), (c) and (d) 3) (a), (b), (c) and (d) 4) (a), (b) and (c)

14) ~m¶moJ°gÀ¶m {Z{‘©Vr‘Ü¶o E°Zmamo{~H$ nMZmMo A§{V‘ CËnmXZ H$moUVo ?
1) BWoZ d H$m~©Z S>m¶Am°³gmB©S> 2) {‘WoZ d H$m~©Z S>m¶Am°³gmB©S>
3) BWoZ d Am°p³gOZ 4) BWoZ d hm¶S´>moOZ

14)  Which is the final product of anaerobic digestion in the production of biogas ?

1) Ethane and Carbon dioxide 2) Methane and Carbon dioxide

3) Ethane and Oxygen 4) Ethane and Hydrogen

15) H$moiemMo Ë¶mÀ¶m ...... AdñWo‘Ü¶o ê$nm§VaU H$ê$Z Ë¶mMm A{Ve¶ H$m¶©j‘ d ñdÀN> B§YZ åhUyZ dmna H$aVm ¶oVmo.
1) Ðd 2) Ðd-KZ-{‘lU 3) dm¶y 4) Ðd-dm¶y-{‘lU

15) Coal can be made more efficient and cleaner fuel by converting it into..........

1) Liquid form 2) Liq-solid mixture 3) Gaseous form 4) Liq-gas mixture

10) dm ỳ
1) ŠbmoamoâbyamoH$m~©Z‘Yrb àË¶oH$ ŠbmoarZÀ`m aoUy‘mJo AmoPmoZÀ`m WamVyZ AmoPmoZMo gw‘mao ............ aoUy H$mT>bo OmVmV.

1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000
1) For every one molecule of chlorine from chlorofiuorocarbon, about .......... molecules of ozone

are removed from ozone layer.

1) 10,00,000 2) 1,00,000 3) 10,000 4) 1,000
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2) 10 J«°‘ dm¶wê$n hm¶S´>moOZ‘Ü¶o H2, ‘mZH$ Xm~ Am{U Vmn‘mZmV hm¶S´>moOZMo ...... ‘mob AgVmV.
1) 10 2) 5 3) 1 4) 0.1

2) 10 g of gaseous hydrogen H
2
, at NTP/STP contain .............. mol of hydrogen.

1) 10 2) 5 3) 1 4) 0.1

3) 7 J«°‘ dm¶wê$n Zm¶Q´>moOZMo N2 2 atm Xm~mV Am{U 546 K Vmn‘mZmV ...... dm3  BVHo$ KZ’$i AgVo.
1) 5.6 2) 11.2 3) 22.4 4) 313.6

3) 7 g of gaseous nitrogen N
2
 occupies ........... dm3 at 546 K and 2 atm.

1) 5.6 2) 11.2 3) 22.4 4) 313.6

4) eoVrVyZ hmoUmè¶m hdoÀ¶m àXÿfUmMo ‘w»¶ ñdê$n H$moUVo Amho ?
1) gë’$a S>m¶ Am°³gmBS> 2) A‘mo{Z¶m 3) {‘WoZ 4) H$m~©Z ‘moZm°ŠgmB©S>

4) What is the main form of air pollution by agriculture ?

1) Sulphur dioxide 2) Ammonia 3) Methane 4) Carbon monoxide

5) gm_mÝ`V… A_mo{Z`m dm ỳ Am¡Úmo{JH$ nmVirda V`ma H$aVmV H$maU Ë`mMm Cn`moJ ...... .
1) à{WZo V`ma H$aÊ`mgmR>r hmoVmo. 2) gm~U V`ma H$aÊ`mgmR>r hmoVmo.
3) amgm`{ZH$ IVo H$aÊ`mgmR>r hmoVmo. 4) H¥${Ì_ ImÚnXmW© H$aÊ`mgmR>r hmoVmo.

5) Commonly, ammonia is produced industrially because it is used for ........

1) manufacture of proteins 2) preparation of soaps

3) production of chemical fertilizers 4) manufacture of artificial food

6) n¶m©daUmV h[aVJ¥h n[aUm‘ ...... dm¶yÀ¶m dmT>Ë¶m à‘mUm‘wio hmoVmo.
1) CO

2
2) CO

3) âbwAmoamoH$m~©Z (Fluorocarbons) 4) NO
2

6) Greenhouse effect is enhanced in the environment by the ...... gas.

1) CO
2

2) CO 3) Fluorocarbons 4) NO
2

7) A{¾em_H$ gmYZm§_Ü ò H$moUVm dm ỳ dmnaVmV?
1) Am°pŠgOZ 2) hm`S´>moOZ 3) H$m~©Z S>m`Am°ŠgmBS> 4) H$m~©Z _moZm°ŠgmB©S>

7) Which gas is used in fire extinguishers?

1) Oxygen 2) Hydrogen 3) Carbon dioxide 4) Carbon Monoxide

8) H$m~©Z S>m` Am°ŠgmB©S> dm ỳ ‘w»`V: _________ VÎdmZwgma AmJ {dPdVmo
1) W§S> hmoUo 2) ñ‘moX[a¨J 3) Cnmg‘ma 4) ~mînr^dZ

8) Carbon dioxide gas extinguishes fire mainly by __________ principle

1) cooling 2) smothering 3) starvation 4) evaporation

9) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?
1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS>
3) hm`S´moOZ gë’$mBS> 4) ho{b`‘



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 54

For Private Circulation Only

9) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

10) ’$m¶a Ep³ñQ>p½dea åhUyZ H$emMm Cn¶moJ hmoD$ eH$Vmo?
1) H$m~©Z S>m¶Am°³gmBS> Am{U ~r. gr. E’$ (~«mo‘mo³cmoamoS>m¶âcwAmoamo{‘WoZ)
2) gr. ~r. Am{U gr. Q>r.gr. (³cmoamo~«mo‘mo{‘WoZ d H$m~©Z Q>oQ´>m³cmoamBS>)
3) darc XmoÝhr
4) darcn¡H$s EH$hr Zmhr

10) What can be used as a fire extinguisher?

1) Carbon dioxide and BCF (Bromochlorodifluoromethane)

2) CB and CTC (Chlorobromomethane and Carbon tetrachloride)

3) Both the above

4) None of the above

11) Imbrb dm ỳ§Mm {dMma H$am
a) CO b) EZ2Amo c) grEM Am{U Amo2 d) ŠbmoamoâbwamoH$m~©Ýg
darbn¡H$s H$moUVo h[aVJ¥h dm ỳ AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

11) Consider the following gases

a) CO b) N,O c) CH and O2 d) Chlorofluorocarbons

Which of the above are the green house gases ?

1) a only 2) a and b only 3) a,b and c only 4) a, b c and d

12) IS 15683 Zwgma H$moUVm a§JrV ~±S> H$m~©Z S>m`Am°ŠgmBS> A{¾em‘H$ §̀Ì Xe©dVmo?
1) bmb 2) {Zim 3) nm§T>am 4) H$mim

12) As per IS 15683, which coloured band denotes the carbon dioxide fire extinguisher?

1) Red 2) Blue 3) White 4) Black

13) Am°Bb g{H©$Q> ~«oH$a‘Yrb H$moUVm dm ỳ Hy$qbJ B’o$ŠQ> {Z‘m©U H$aVmo?
1) {‘WoZ 2) hm`S´moOZ 3) CO2 4) Zm`Q´moOZ

13) Which gas in an oil circuit breaker produce the cooling effect ?

1) Methane 2) Hydrogen 3) CO2 4) Nitrogen

14) 3 {S>g|~a 1984 amoOr ^monmi òWo ẁ{Z`Z H$m~m©BS> B§{S>`m {b.‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) {‘WmBb Am`gmogm`ZoQ> 2) {‘WmBb BWmBb Ho$Q>moZ
3) ’$m°ñOrZ 4) A‘mo{Z`m

14) Which gas leaked from Union Carbide India Ltd., at Bhopal on 3 December 1984?

1) Methyl isocyanate 2) Methyl ethyl ketone

3) Phosgene 4) Ammonia
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15) ~Q>mQ>m {Mßg CËnmXH$, {Mßg ~°JoV ^aVmZm Ë¶mgmo~V EH$ dm¶y ^aVmV, OoUoH$ê$Z {Mßg Am°p³gS>mBPS> ho ZmhrV.
Imcrcn¡H$s H$moUVm dm¶y ¶mgmR>r dmnacm OmVmo?
1) hm¶S´>moOZ 2) gë’$a S>m`Am°ŠgmB©S> 3) Zm¶Q´>moOZ 4) H$m~©Z S>m`Am°ŠgmB©S>

15) Potato Chips manufacturers usually flush bags of chips with some gas to prevent the chips from

getting oxidised. Which of the following gases is used for the purpose.:

1) Hydrogen 2) Sulphur dioxide 3) Nitrogen 4) Carbon dioxide

16) Imbrbn¡H$s H$moUË¶m dm¶y‘wio àXÿfU hmoV Zmhr?
1) A‘mo{Z¶m 2) ³bmoarZ 3) Zm¶Q´>moOZ 4) hm¶S´>moOZ gë’$mB©S>

16) Which of the following gas does not cause pollution ?

1) Ammonia 2) Chlorine 3) Nitrogen 4) Hydrogen Sulphide

17) AmoPmoZ WamMm j¶ ...... Am°³gmB©S>‘wio hmoVmo.
1) H$m~©Z 2) ’$m°ñ’$ag 3) ZmBQ´>moOZ 4) H$moUVm Zmhr

17) Depletion of Ozone layer is due to oxide of ......

1) Carbon 2) Phosphorus 3) Nitrogen 4) None of the above

18) O{‘Zrda dZñnVr dmT>rgmR>r nmUr Am{U H$m~©Z S>m¶Am°³gmB©S> ¶m§Mr CnbãYVm ho ‘hÎdmMo KQ>H$ AmhoV Va
nmÊ¶m‘Ü¶o, àH$me Am{U {‘gibobm ............... ‘hÎdmMo KQ>H$ AmhoV.
1) hm¶S´>moOZ 2) Am°pŠgOZ 3) ho{bA‘ 4) {‘WoZ

18) On land, availability of water and CO
2
 are important factors for plant growth, while in water,  light

and dissolved .......... are important factors.

1)  Hydrogen 2)  Oxygen 3)  Helium 4)  Methane

19) ________ À`m g§nH$m©V Vob qH$dm d§JU AmJ Am{U ñ’$moQ> KS>dyZ AmUob.
1) A°{g{Q>brZ 2) g§Hw${MV Am°pŠgOZ 3) Zm`Q´moOZ 4) ho{b`‘

19) Oil or grease in contact with ______ will cause fire and explosion.

1) acetylene 2) compressed oxygen  3) nitrogen 4) helium

20) Imbrb {dYmZo nhm …
a) Am°p³gOZÀ¶m VrZ AUy§nmgyZ A°aoJm°Z dm¶y ~Zbobm AgVmo.
b) AmoPmoZMm èhmg n¥Ïdrdarb gOrdm§gmR>r Iyn YmoH$mXm¶H$ Amho.
c) dmid§Q>mMm namdV©Z {ZX}em§H$ 25 Vo 30 Q> o̧$ AgVmo.
n¶m©¶r CÎmao …
1) ’$º$ (b) {dYmZ ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV
3) {dYmZ (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV

20) Observe the following statements :

(a)  Argon gas is made up of three atoms of oxygen.

(b)  The degradation of ozone is very dangerous for life on the Earth.

(c)  The albedo of the desert is 25 to 30 percent.

Answer Options :

(l)  Only statement (b) is correct (2)  Statements (a) and (b) are correct

(3)  Statements (b) and (c) are correct (4)  Statements (a), (b) and (c) are correct
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21) 7 ‘o 2020 amoOr Am§Y« àXoe òWo LG nm°{b‘a‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) A‘mo{Z`m 2) ŠbmoarZ 3) ~«mo‘mBZ 4) ñQ>m`arZ

21) Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene

22) O{‘ZrnmgyZ dmVmdaUmÀ`m {eIamn ª̀V hdoÀ`m ñV§̂ mVrb AmoPmoZMr OmS>r ...... Zo ‘moObr OmVo.
1) nmñH$b ẁ{ZQ> 2) S>m°ãgZ ẁ{ZQ> 3) A±½ñQ´m°‘ ẁ{ZQ> 4) S>o{g~b ẁ{ZQ>

22) The thickness of ozone in a column of air from the ground to the top of atmosphere is measured

in term of ......

1) Pascal unit 2) Dobson unit 3) Angstrom unit 4) Decibel unit

23) dm ỳMr 'dm ỳ g§doXZercVm V§ÌmMr' dmT> H$aÊ`mH$[aVm H$moUVm nXmW© dmnaVmV ?
1) \o$åQ>mo nXmW© 2) Z°Zmo nXmW© 3) _m`H«$mo nXmW© 4) A{Vgyú_ H$U

23) Which is the material used to increase the ‘gas sensing technology’ of gas ?

1) Femto material 2) Nano material 3) Micro material 4) Ultrasmall particles

24) dmVmdaUmÀ¶m H$moUË¶m Wam‘Ü¶o AmoPmoZ dm¶yMm Wa AmT>iVmo ?
1) Vnm§~a 2) VnñVãYr 3) pñWVm§~a 4) Am¶Zm§~a

24) In which layer of atmosphere does the ozone layer appear ?

1)  Troposphere 2)  Tropopause 3)  Stratosphere           4)  lonosphere

25) n¥ÏdrÀ¶m dmVmdaUmÀ¶m ...... ^mJmV dmVmdaUmVrb EHy$U hdoÀ¶m gw‘mao 70% ^mJ AgVmo.
1) ñQ´>oQ>mopñ’$¶a 2) ‘ogmopñ’$¶a 3) Wa‘mopñ’$¶a 4) Q´>monmopñ’$¶a

25) The part of the Earth’s atmosphere contains about 70% of the total air in the atmosphere.

1) Stratosphere 2) Mesosphere 3) Thermosphere 4) Troposphere

26) ³¶moQ>mo n[afX hr ...... er g§~§YrV Amho.
1) SO

2
 À¶m CËnmXZm§da ‘¶m©Xm KmbUo.

2) AmoPmoZ j¶mÀ¶m j¶ Wm§~{dÊ¶mgmR>r n¶m©¶r nXmWmªMm {dH$mg H$aUo.
3) h[aVJ¥h dm¶y§Mo CËgO©Z H$‘r H$aUo.
4) D$O}Mm dmna H$‘r H$aUo.

26) Kyoto Conference is concerned with :

1) limiting production of SO
2

2) developing alternatives to ozone depleting substances

3) reducing emission of greenhouse gases

4) reduction in use of energy

11) H$sQ>H$ZmeHo$, Am¡fYo, {dfÐì¶o
1) Imbrbn¡H$s H$moUVo ao{’«$Oa§Q> AË §̀V {dfmar Am{U ÁdbZerb Amho?

1) H$m~©Z S>m`Am°ŠgmBS> 2) gë’$a S>m`Am°ŠgmBS> 3) A‘mo{Z`m 4) R-12
1) Which of the following refrigerant is highly toxic and flammable ?

1) Carbon dioxide 2) Sulphur dioxide 3) Ammonia 4) R-12
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2) Am°J}ZmoŠbmoarZ H$sQ>H$ZmeH$m§Mr CXmhaUo AmhoV/AmhoV :
1) ’$º$ DDT 2) ’$º$ qbS>oZ
3) ’$º$ E§S>mogë’$mZ 4) S>rS>rQ>r, qbS>oZ Am{U E§S>mogë’$mZ

2) The example(s) of organochlorine pesticides is/are:

1) only DDT 2) only lindane

3) only endosulfan 4) DDT, lindane and endosulfan

3) K2 ho ¶m {S>Pm`Za Am¡fYm§Zm {Xbobo Zmd Amho :
1) qgWo{Q>H$ H°${WZmoÝg 2) E°å’o$Q>m‘mBÝg
3) qgWo{Q>H$ H°$Zm{~Zm°BS²g 4) Ho$Q>m‘mBÝg

3) K2 is the street name given to the designer drugs :

1) synthetic cathinones 2) amphetamines

3) synthetic cannabinoids 4) ketamines

4) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
A) S>rS>rQ>rMm àW‘ emoY AmoW‘ma PoS>baZo bmdbm
~) S>rS>rQ>rMr H$sQ>H$ZmeH$ JwUY‘© nm°b ‘wba `m§Zr {gÕ Ho$bo
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) ’$º$ (~) 3) XmoÝhr (A) Am{U (~) 4) `mn¡H$s Zmhr

4) Among the following, which statement is correct ?

a) DDT was first discovered by Othmar Zeidler

b) Insecticidal property of DDT was proved by Paul Muller

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of these

5) {haì`m H¥$fr agm`Zm§À`m JQ>mV Imbrb ~waerZmeHo$ H$moUVr?
1) ~oZmo{‘b 2) H$m~}ÝS>m{P‘ 3) â ẁ~o[aS>mPmob 4) Wm`mo’o$ZoQ> {‘WmBb

5) From the following fungicides which falls in the group of green agrochemicals ?

1) Benomyl 2) Carbendazim 3) Fuberidazole 4) Thiophanate methyl

6) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?
1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS> 3) hm`S´moOZ gë’$mBS> 4) ho{b`‘

6) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

7) {dfmar agm¶Zo, Or Ë`m§À`m dm ỳ AdñWoV l²dmgZ{bHo$Ûmao H$sQ>H$m§‘Ü ò àdoe H$aVmV Am{U H$sQ>H$m§À`m àOmVtZm
‘maVmV, Ë¶m§Zm ........... Ago åhUVmV:
1) g§nH©$ {df 2) â ẁ{‘J§Q> 3) nmoQ>mVrb {df 4) darbn¡H$s H$moUVohr Zmhr

7) The toxicant, which in its gaseous state penetrates insect through the tracheal system and kills the

pest species is said tobe a :

1) Contact poison 2) Fumigant 3) Stomach poison 4) None of the above
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8) ’$m°‘©pëS>hmBS> {df~mYoàg§Jr amgm¶{ZH$ {ZpîH«$¶Vm gmÜ¶ H$aÊ¶mgmR>r, Oa CnMmamXaå¶mZ A‘mo{Z`m dmnabm Va
......... Mr {Z{‘©Vr hmoVo.
1) n|Q>m{WbrZ hoŠgm‘mBZ 2) hoŠgm‘o{WbrZ Q>oQ´m‘mBZ 3) Q>oQ´m{WbrZ Q´m`‘mBZ 3) S>m`{WbrZ Q´m`‘mBZ

8) During the chemical inactivation of formaldehyde poisoning, treatment with ammonia produces

.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine

3) Tetraethylene triamine 3) Diethylene triamine

9) Am¡fYr Jmoù`m§Mo ñdê$n gwYmaÊ`mgmR>r, J«°Ý ẁëgMo àdmh JwUY‘© gwYmaÊ`mgmR>r Am{U S>mB©O Am{U n§Mog‘Ü ò gm‘J«r
{MH$Qy> Z ò `mgmR>r  ........... OmoS>bo OmVmV.
1) {dKQ>Z H$aUmao KQ>H$ 2) ñZohH$ 3) ~§YZH$maH$ KQ>H$ 4) gm¡å`

9) ........... are added to improve the appearance of tablets, flow properties of granules and to prevent

the sticking of the materials to the dies and punches.

1) Disintegrating agents 2) Lubricants

3) Binding agents 4) Diluent

12)  IVo
1) qgJb gwna ’$m°ñ’o$Q>‘Ü ò {H$Vr Q> o̧$ P,O, AgVo?

1) 16%  2) 48% 3) 46% 4) 27%
1) How much percentage of P,O, is present in single super phosphate ?

1) 16% 2) 48% 3) 46% 4) 27%

2) PmBZ gë’o$Q> hoßQ>mhm`SóQ> IVm‘Ü ò qPH$Mo à‘mU H$m` Amho?
1) 19.4% 2) 12% 3) 21% 4) 33%

2) What is the zinc content in the zine sulphate heptahydrate fertilizer ?

1) 19.4% 2) 12% 3) 21% 4) 33%

3) H$‘r àVrÀ¶m IVm§‘Ü ò àmW{‘H$ nmofH$ KQ>H$m§Mr Q> o̧$dmar ....... AgVo.
1) 25 nojm H$‘r 2) 30 nojm H$‘r 3) 35 nojm H$‘r 4) 40 nojm H$‘r

3) The low analysis fertilizers contain percent of primary nutrients.......

1) less than 25 2) less than 30 3) less than 35 4) less than 40

4) gë’o$Q> Am°’$ nmoQ>°e‘Ü ò ...........% K AgVo.
1) 42 Vo 44 2) 44 Vo 46 3) 46 Vo 48 4) 60 Am{U Ë`mhÿZ A{YH$

4) Sulfate of potash contains ........... % K.

1) 42 to 44 2) 44 to 46 3) 46 to 48 4) 60 and above

5) {nH$mgmR>r dmnaë`m OmUmè`m amgm`{ZH$ IVm§À`m VwbZoV, Z°Zmo IVm§À¶m ‘mÌoMr JaO ......... nQ> H$‘r  AgVo.
1) 40-60 2) 60-80 3) 80-100 4) 100-120

5) Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers

applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120
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6)  O{‘ZrV ‘mo~mB©b nmofH$ Am`Z AgVmV

n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

6) Mobile nutrient ions in soil are

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

7) AË §̀V MwZIS>r ẁº$ ‘mVrV, JiVr Pmboë`m dmbwH$m‘` ‘mVrV, MwZm¶wº$ Amåb ‘mVrV Am{U nwZ ©̂aU  Ho$boë`m
b°Q>[a{Q>H$ ‘mVrV  ......... Mr H$‘VaVm A{YH$ J§̂ ra ñdénmMr AgVo.
1) ‘±JZrO 2) ~moam°Z 3) Vm§~o 4) qPH$

7) ............ déficiency is more critical in highly calcareous soils, leached sandy soils, lime acid soils

and reclaimed lateritic soils.

1) Manganese 2) Boron 3) Copper 4) Zinc

8) Imbrb IVm§n¡H$s Oo g|{Ð` IV åhUyZ AmoiIbo OmVo/Vo åhUOo .........
A) A‘mo{Z`‘ Zm`QóQ> ~) H°$pëe`‘ A‘mo{Z`‘ Zm`QóQ>
H$) ẁ[a`m S>) H°$pëe`‘ gm`ZmBS>
n`m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

8) Among the following fertilisers which is/are also known as organic fertilisers ?

a) Ammonium nitrate b) Calcium ammonium nitrate

c) Urea d) Calcium cyanide

Answer options :

1) a only 2) a and b only 3) a, b and c only 4) c and d only

9) Amåb ẁº$ ‘mVrV Imbrbn¡H$s H$moUVo IV A{YH$ `mo½` Amho?
1) A‘mo{Z`‘ gë’o$Q> 2) A‘mo{Z`‘ ŠbmoamB©S>
3) H°$pëe`‘ A‘mo{Z`‘ Zm`QóQ> 4) hm`S´m°g A‘mo{Z`m

9) Which of the following Fertilizer is more suitable in Acidic Soils ?

1) Ammonium Sulfate 2) Ammonium Chloride

3) Calcium ammonium nitrate 4) Hydrous ammonia
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10) IVm§‘Ü ò Agboë¶m Imbrbn¡H$s H$moUË`m Am`Z‘wio eH©$a {nH$m§‘Ü ò hmoUmam gmIaoMm g§M` à^m{dV hmoVmo?
1) ŠbmoamB©S> 2) gë’$mBQ> 3) Zm`Q´moOZ 4) gmo{S>`‘

10) In sugar crops, accumulation of sugar is affected due to which of the following ions present in

fertilizers ?

1) Chloride 2) Sulphite 3) Nitrogen 4) Sodium

11) S>m`hm`SóQ> nm°brhbmBQ> ho Imbrbn¡H$s EH$  ..........Amho.
1) H$sQ>H$ZmeH$ 2) VUZmeH$ 3) IV 4) darbn¡H$s Zmhr

11) Dihydrate polyhalite is one of the following.

1) Insecticide 2) Herbicide 3) Fertilizer 4) None of the above

12) Imbrb {dYmZm§n¡H$s H$moUVo/`mo½`/AmhoV?
A) ‘moZmoH°$pëe`‘ ’$m°ñ’o$Q> ho nmÊ`mV {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
~) {S>H°$pëe`‘ ’$m°ñ’o$Q> ho gm`{Q´H$ A°{gS> {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
H$) Q´m`H°$pëe`‘ ’$m°ñ’o$Q> ho AKwbZerb ’$m°ñ’$mo[aH$ A°{gS> Amho.
S>) gwna ’$m°ñ’o$Q>, {Q´nb gwna ’$m°ñ’o$Q> Am{U A‘mo{Z`‘ ’$m°ñ’o$Q>‘Ü ò ’$m°ñ’$mo[aH$ A°{gS>À`m CnbãY ñdê$nmV P

AgVmo.
n`m©¶r CÎmao :
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

12) Amongst the following statement/s which is/are correct ?

a) Monocalcium phosphate is water soluble phosphoric acid.

b) Dicalcium phosphate is citric acid soluble phosphoric acid.

c) Tricalcium phosphate is insoluble phosphoric acid.

d) Super phosphate, triple super phosphate and ammonium phosphate contain P in the available

form of phosphoric acid.

Answer options :

1) a only 2) b only 3) a,b and c only 4) a, b, c and d

13) IVm_Ü ò H$moUVr agm`Zo AgVmV?
1) Zm`Q´>moOZ 2) Zm`Q´>moOZ d \$m°ñ\$ag
3) nmoQ°>{eA_ d \$m°ñ\$ag 4) Zm`Q´>moOZ d nmoQ°>{eA_ d \$m°ñ\$ag

13) A fertilizer contains which of the following?

1) Nitrogen 2) Nitrogen and Phosphorus

3) Potassium and Phosphorus 4) Nitrogen and Potassium and Phosphorus

14) 'PDM' IVm‘Ü ò H$moUVo à‘wI nmofH$ KQ>H$ AgVmV?
1) nmoQ>°e 2) ’$m°ñ’$ag 3) ‘°¾o{e`‘ 4) Zm`Q´moOZ

14) ‘PDM’ Fertilizer contains which major nutrient ?

1) Potash 2) Phosphorous 3) Magnesium 4) Nitrogen

15)  dmna H$aÊ¶mÀ¶m EH$ ‘{hZm AJmoXa eoUIV (fym) g‘¥Õ H$aÊ`mgmR>r Ë¶mV ........ ¶mo½¶arË¶m {‘gibo OmVo.
1) gwna ’$m°ñ’o$Q> 2) ẁ[a`m 3) å ẁ[aEQ> Am°’$ nmoQ>°e 4) darb gd©
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15) ......... is thoroughly mixed for enrichment of farmyard manure (fym) before one month of

application.

1) Super Phosphate 2) Urea 3) Muriate of Potash 4) All the above

16) Imbrbn¡H$s H$moUË`m IVm‘Ü ò A‘mBS> ñdê$nmV Zm`Q´moOZ AgVo?
1) ẁ[a`m 2) gmo{S>`‘ Zm`QóQ> 3) A‘mo{Z`‘ gë’o$Q> 4) A‘mo{Z`‘ Zm`QóQ>

16) Which of the following fertilizers contains Nitrogen in amide form ?

1) Urea 2) Sodium Nitrate

3) Ammonium Sulphate 4) Ammonium Nitrate

17) ‘¥Xm àmo’$mBb g§X^m©V, H$mhr ̂ mJmVrb nO©Ý` Am{U H°$pëe`‘ H$m~m}ZoQ> O‘m hmoÊ`mÀ`m à{H«$ òbm ......... Ago åhUVmV.
1) nm°S>Pmobm`PoeZ 2) H$m~m}ZoeZ 3) H°$pëe{’$Ho$eZ 4) {S>H°$pëe{’$Ho$eZ

17) Process of precipitation and accumulation of calcium carbonate in some part of the profile is

termed as ..........

1) Podzolization 2) Carbonation 3) Calcification 4) Decalcification

18) Imbrbn¡H$s H$moUVo {dYmZ IFFCO Zo {dH${gV Z°Zmo ẁ[a`m À`m g§X^m©V ~amo~a Amho/AmhoV?
A) Z°Zmo ẁ[a`m‘Ü ò EHy$U 4-0% Zm`Q´moOZ AgVo (w/v)

~) ho IV ’${Q©>bm`Pa H§$Q´mob Am°S>©a (FCO), 1985 Ûmao A{Ygy{MV Ho$bo Jobo Amho
H$) Z°Zmo H$Um§Mm AmH$ma 150 - 200 nm n ª̀V ~XbVmo
S>) ho NBRC, H$bmobMo g§emoYZ n[aUm‘ Amho
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) A, ~ Am{U H$ ’$º$ 3) A, ~ Am{U S> ’$º$ 4) A, ~, H$ Am{U S>

18) Which of following statements is/are correct in respect to “Nano urea developed by IFFCO” ?

a) Nano urea contains 4-0% total Nitrogen (w/v)

b) This fertilizer has been notified by Fertilizer Control Order (FCO), 1985

c) Nano particle size varies from 150 — 200 nm

d) It is research outcome of NBRC, Kalol

Answer Options :

1) a and b only 2) a, b and c only 3) a, b and d only 4) a, b, c and d

13)  ‘hËdmMr g§¶wJo /agm¶Zo
1) nmoQ>©b±S> {g‘|Q> H$moUË`m Vmn‘mZmV KQ>H$ OmiyZ V`ma Ho$bo OmVo?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

1) Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

2) gmYmaU nmoQ>©b±S> {g‘|Q> V`ma H$aÊ`mgmR>r, Z¡g{J©H$arË`m AmT>iUmè`m AmJubo{g`g Am{U H°$ëHo$[a`gMo {‘lU
H$moUË`m Vmn‘mZmV EH$Ì Omimdo bmJVo. ?
1) gw‘mao 1450°C 2) gw‘mao 4000°C 3) gw‘mao 1200°C 4) gw‘mao 750°C
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2) Ideally at which temperature, mixture of naturally occurring argillaceous and calcareous is to be

burnt together in order to manufacture ordinary portland cement. ?

1) About 1450°C 2) About 4000°C 3) About 1200°C 4) About 750°C

3) H§$nZ Ho$boë`m H$m±H«$sQ>gmR>r KgaUrMr H$moUVr loUr ({‘‘r‘Ü ò) ñdrH$mabr OmB©b?
1) 12 Vo 25 2) 50 Vo 100 3) 5 Vo 10 4) 25 Vo 50

3) Which range of slump (in mm) shall be adopted for vibrated concrete ?

1) 12 to 25 2) 50 to 100 3) 5 to10 4) 25 to 50

4) ‘w»` amgm`{ZH$ KQ>H$ åhUyZ ‘moZmoA‘mo{Z`‘ ’$m°ñ’o$Q> Agbobr H$moaS>r amgm`{ZH$ nmdS>a _______ dJm©Mr AmJ
{dPdÊ`mgmR>r dmnabr OmD$ eH$Vo.
1) A, B Am{U C 2) B Am{U C ’$º$ 3) D ’$º$ 4) A Am{U C ’$º$

4) Dry chemical powder having monoammonium phosphate as the main chemical constituent can be

used for extinguishing Class ________ fires.

1) A, B and C 2) B and C only 3) D only 4) A and C only

5) Ma~r ẁº$ MwZm {Z{‘©VrgmR>r Amdí¶H$ MwZIS>r‘Ü ò AewÕVoMo H$‘mb à‘mU {H$Vr Agmdo?
1) 15% 2) 12% 3) 5% 4) 10%

5) How much should be the maximum % of impurities in limestone allowed for fat lime ?

1) 15% 2) 12% 3) 5% 4) 10%

6) nmÊ¶mV ³bmoarZ Zoh‘r {‘giVmV H$maU -
1) Am°p³gOZMo à‘mU dmT>Vo 2) O§VyZm ‘maUo
3) Jmi H$mT>Ê¶mgmR>r 4) Z {daKiUmar AewÕVm KmbdÊ¶mgmR>r

6) Water is often treated with chlorine to

1) Increase oxygen content 2) Kill germs

3) Remove sedimentation 4) Remove insoluble impurities

7) nwT>rc XmoZ {dYmZmn¡H$s H$moUVo ¶mo½¶ Amho ?
a) Omo gmoS>m gd©gmYmaUnUo ñd¶§nmH$KamV M{dï> Hw$aHw$arV ^Oo V¶ma H$am¶cm dmnacm OmVmo Vmo Amho ~oqH$J gmoS>m.

~o[H§$J gmoS>m gmo{S>¶‘ H$m~mo©ZoQ> Amho.
b) dm°qeJ gmoS>m Kaocy H$m‘H$mOmV ñdÀN>H$ åhUyZ dmnacm OmVmo VgoM H$mM, gm~U d H$mJX CÚmoJmVhr dmnaVmV.

dm°qeJ gmoS>m ho gmo{S>¶‘ hm¶S´>moOZ H$m~mo©ZoQ> AgVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) (a) d (b) XmoÝhr hr Zmhr.

7) Which of the following two statements is correct?

a) The soda commonly used in the kitchen for making tasty crispy pokodas is baking soda. The

baking soda is a sodium carbonate.

b) Washing soda is usually used as a cleaning agent for domestic purposes and in glass, soap,

paper industries. The washing soda is sodium hydrogen carbonate.

Answer Options :

1) only (a) 2) Only (b) Both (a) and (b) 4) Neither (a) nor (b)
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8) XmVm§À`m n¥ð>^mJmÀ`m ñdÀN>VogmR>r Qy>W~«eÀ`m ‘XVrZo  .......... bmdbo OmVmV.
1) S>pñQ>§J nmdS>a 2) g{O©H$b nmdS>a 3) S|>{Q>{’«$gog 4) BÝgwâboeZ

8) ........... are applied with the help of a tooth brush for cleaning the surface of the teeth.

1)  Dusting powder 2) Surgical powder 3) Dentifrices 4) Insufflations

9) ẁEZÀ`m YmoH$mXm`H$ dñVy§À`m dJuH$aUmZwgma, dJ© 3 agm¶Zo hr _________ AmhoV.
1) ñ’$moQ>Ho$ 2) ÁdbZerb Ðd
3) {H$aUmoËgJu gm‘J«r 4) Am°pŠgS>m`qPJ nXmW©, g|{Ð` noamoŠgmBS>

9) As per the UN classification of dangerous goods, Class 3 is _______.

1) explosives 2) flammable liquid

3) radioactive material 4) oxidising substances, organic peroxides

10) AmXe© AmJ-à{VamoYH$ gm‘J«rMo JwUY‘© ....... AmhoV
a)  CîUVo‘wio Ë`mMo {dKQ>Z hmoD$ Z ò.
b)  CîUVo‘wio Ë¶mMo OmñV à‘mUmV {dñWmnZ Z ò.
c)  W§S> Pmë`mda Vo doJmZo AmHw§$MZ nmdbo nm{hOo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (A) Am{U (§~) 2) ’$º$ (§~) 3) darb gd© 4) ¶mn¡H$s Zmhr

10) The properties of ideal fire-resisting materials are

(a) It should not get disintegrated due to heat.

(b) It should not expand excessively due to heat.

(c) It should contract rapidly on cooling.

Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above

11) ~oqS>JMm CÔoe .............
1) Ho$~bbm AmÐ©VonmgyZ g§a{jV H$aUo 2) YmVyÀ`m AmdaUmnmgyZ J§OÊ`mnmgyZ g§ajU H$aUo
3) `m§{ÌH$ BOm nmgyZ Ho$~bMo g§ajU H$aUo 4) Am‘©[a¨Jbm dmVmdaUmVrb n[apñWVrnmgyZ g§ajU

11) The purpose of bedding is to .............

1) protect cable from moisture

2) protect metallic sheath from corrosion

3) protect cable from mechanical injury

4) protect armouring from atmospheric conditions

12) Am°Bb n|Q>‘Yrb ~og Aer H$m }̀ H$aVmo
a) n|Q>bm AnmaXe©H$Vm XoVo.
b) Kf©UmMm à{VH$ma dmT>dVo.
c) g§H$moMZ H«°$H$ V`ma hmoÊ`mg à{V~§Y H$aVo.
darbn¡H$s H$moUVo ’§$ŠeZ ~amo~a Amho/AmhoV?.
1) darb gd© 2) ’$º$ (a) 3) ’$º$ (a) Am{U (c) 4) ’$º$ (b)
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12) A base in an oil paint performs functions such as

a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c) 4) Only (b)

13) ‘moaMyX ho H$moUË¶m AmOmamMo {ZXmZ H$aVmZm aº$ VnmgUrH$[aVm dmnaVmV?
1) ’w$ß’w$gmMm Xmh 2) aº$j¶ 3) {df‘Áda 4) {hdVmn

13) Blue vitriol is used in the blood test for diagnosis of which disease ?

1) Pneumonia 2) Anaemia 3) Typhoid 4) Malaria

14) ______   ‘Ü ò n¥ð>^mJmgh gd© n|Q> KQ>H$ AgVmV.
1) ~mBªS>a 2) gm°ëìh|Q> 3) S´m`a 4) {dñVmaH$

14) A/An ______ holds all paint components together with the surface.

1) binder 2) solvent 3) drier 4) extender

15) BZ°‘b n|Q²g‘Ü ò H«$m°g-qbHo$O ~m°ÊS²gMr {Z{‘©Vr `mÛmao {Z §̀{ÌV Ho$br OmVo:
1) ’$º$ Vmn‘mZ 2) ’$º$ Am°pŠgS>oeZ
3) ’$º$ B{Z{eEQ>g© 4) Vmn‘mZ, Am°pŠgS>oeZ Am{U B{Z{eEQ>g©

15) The formation of cross-linkage bonds in enamel paints is governed by:

1) only temperature 2) only oxidation

3) only initiators 4) temperature, oxidation and initiators

16) 'AmoH«o$' S>mB©Mm dmna Q>°Qy>‘Ü ò Imbrbn¡H$s H$moUVm a§J XoÊ`mgmR>r Ho$bm OmVmo?
1) H$mim 2) Vn{H$ar 3) amImS>r 4) {Zim

16) ‘Ochre’ dye is used to impart which of the following colors in tattoo marks?

1) Black 2) Brown 3) Grey 4) Blue

17) [aH$m_r OmJm `mo½` eãXmZo ^am.
EH$m emgH$s` ZmoH$amg cmM KoVmZm nH$S>Ê`mñVd V`ma Ho$coë`m gmnù`mV \o$Zm°ë\$WocrZ nmdS>a cmdcoë`m ZmoQ>m
dmnaë`m Joë`m. JwÝømgmR>r nwamdm åhUyZ Ë`mda qenS>coco gmo{S>A‘ H$m~m}ZoQ> ........ a§JmMo ìhmd`mg hdo.
1) {Zio 2) Om§̂ io 3) cmc 4) H$mio

17) Fill in the blank appropriately.

A trap laid for apprehending a Govt. employee taking bribe used phenophthelein powder coated

currency notes. A solution of sodium carbonate sprinkled on the notes must turn ............ for

lending proof for the crime.

1) blue 2) purple 3) red 4) black

18) Imcrcn¡H$s Hw$R>co {dYmZ gË¶ Amho ?
a) B§{S>Jmo ãë ỳ hm Z¡g{J©H$ a§J Amho.
b) A°{cParZ hm H¥${Ì‘ a§J Amho.
n¶m©¶r CÎmao …
1) XmoÝhr gË¶ 2) (a) gË¶, (b) AgË¶ 3) (a) AgË¶, (b) gË¶ 4) XmoÝhr AgË¶
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18) Which of the following statements is true?

a) Indigo- blue is a natural dye.

b) Alizarin is a synthetic dye.

Answer Options :

1) Both true 2) (a) true, (b) false 3) (a) false, (b) true 4) Both false

19) H$mð>OÝ¶ AëH$mohmob åhUOoM -
1) {‘WoZm°b 2) BWoZm°b 3) ~oqPb AëH$mohmob 4) Am¶gmoàmo{àb AëH$mohmob

19) Wood grain alcohol is nothing but

1) Methanol 2) Ethanol 3) Benzyl alcohol 4) Isopropyl alcohol

20) Imbrbn¡H$s H$moUmg Q>a{nZm°BS> g‘Obo OmVmV?
1) ’$º$ ‘|Wm°b 2) ’$º$ A OrdZgÎd
3) XmoÝhr, ‘|Wm°b Am{U A OrdZgÎd 4) XmoÝhrhr Zmhr

20) Which of the following is/are terpenoid/s?

1) Only menthol 2) Only Vitamin A

3) Both menthol as well as Vitamin A 4) Neither menthol nor Vitamin A

21) H°$‘b ~«eZo ngabobr A°ë ẁ{‘{Z`‘Mr Yyi qàQ>À`m {g~°{e`g òmdmbm {MH$Qy>Z amhVo Am{U H$moUË`m àH$maÀ`m
n¥ð>^mJmdarb H$S>çm§Zm R>iH$nUo XmIdVo?
1) hbŠ`m a§JmMr n¥ð>^mJ 2) JS>X a§JrV n¥ð>^mJ
3) gpÀN>Ð n¥ð>^mJ 4) cdMrH$ n¥ð>^mJ

21) Aluminium dust spread over with camel brush, adheres to the sebaceous secretion of the print

and makes prominent the ridges over which kind of surface?

1) Light colored surface 2) Dark colored surface

3) Porous surface 4) Pliable surface

22) {dkmZmMm Imbrbn¡H$s H$moUVm Ñ{ï>H$moZ nÕVera {ZarjUm§da Adb§~yZ AgVmo?
1) AZŵ ddmX 2) ~w{ÕdmX
3) {ZYm©admX 4) d¡̀ {º$H$ AZŵ d

22) Which of the following approaches of science relies on systematic observations ?

1) Empiricism 2) Rationalism

3) Determinism 4) Personal experience

23) Imbrbn¡H$s H$moUVm jma noQ´>mo{b¶‘À¶m ewÕrH$aUmV dmnaVmV?
1) gm~U 2) YwÊ¶mMm gmoS>m 3) {da§OH$ MyU© 4) ImÊ¶mMm gmoS>m

23) Which of the following Salt is used in refining of Petrol ?

1) Soap 2) Washing Soda 3) Bleaching Powder 4) Baking Soda

24) ãbrqMJ nmdS>a‘Ü ò Imbrb Jmoï>tMm g‘mdoe hmoVmo :
1) H°$pëe`‘ H$m~m}ZoQ> 2) H°$pëe`‘ hm`nmoŠbmoamBQ>  3) H°$pëe`‘ gë’o$Q> 4) ‘°¾o{e`‘ H$m~m}ZoQ>
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24) Bleaching powder consists of :

1) Calcium Carbonate 2) Calcium Hypochlorite

3) Calcium Sulfate 4) Magnesium Carbonate

25) Wm`‘ Am°Bb‘Ü ò CnpñWV ‘w»` KQ>H$ Amho ....
1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue

25) The principal constituent present in thyme oil is ....

1) Furfural 2) Carvacrol 3) Sennosides.  4) Galactogogue

{dfmar agm¶Zo, H$sQ>H$ZmeHo$
1) Q>m°³grH$m°cm°Or ¶m emómMr ‘Ü¶dVu H$ënZm H$m¶ ?

1) {dfmar Ðì¶m§Mm Aä¶mg H$aUo.
2) agm¶Zm§À¶m KmVH$ n[aUm‘m§Mm Aä¶mg H$aUo.
3) agm¶Zm§À¶m Am¡fYr¶wº$ n[aUm‘m§Mm Aä¶mg H$aUo.
4) agm¶Zm§À¶m Am¡fYr¶wº$ d KmVH$ n[aUm‘m§Mm Aä¶mg H$aUo.

1) What is the central theme of toxicology ?

1) Study of pisonous materials

2) study of adverse effect of chemicals

3) Study of therapeutic effects of chemicals

4) Study of both therapeutic and adverse effects of chemicals.

2) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?
1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS> 3) hm`S´moOZ gë’$mBS> 4) ho{b`‘

2) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium

3) {dfmar agm¶Zo, Or Ë`m§À`m dm ỳ AdñWoV l²dmgZ{bHo$Ûmao H$sQ>H$m§‘Ü ò àdoe H$aVmV Am{U H$sQ>H$m§À`m àOmVtZm
‘maVmV, Ë¶m§Zm ........... Ago åhUVmV:
1) g§nH©$ {df 2) â ẁ{‘J§Q> 3) nmoQ>mVrb {df 4) darbn¡H$s H$moUVohr Zmhr

3) The toxicant, which in its gaseous state penetrates insect through the tracheal system and kills the

pest species is said tobe a :

1) Contact poison 2) Fumigant 3) Stomach poison 4) None of the above

4) ’$m°‘©pëS>hmBS> {df~mYoàg§Jr amgm¶{ZH$ {ZpîH«$¶Vm gmÜ¶ H$aÊ¶mgmR>r, Oa CnMmamXaå¶mZ A‘mo{Z`m dmnabm Va
......... Mr {Z{‘©Vr hmoVo.
1) n|Q>m{WbrZ hoŠgm‘mBZ 2) hoŠgm‘o{WbrZ Q>oQ´m‘mBZ 3) Q>oQ´m{WbrZ Q´m`‘mBZ 3) S>m`{WbrZ Q´m`‘mBZ

4) During the chemical inactivation of formaldehyde poisoning, treatment with ammonia produces

.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine

3) Tetraethylene triamine 3) Diethylene triamine
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5) Am¡fYr Jmoù`m§Mo ñdê$n gwYmaÊ`mgmR>r, J«°Ý ẁëgMo àdmh JwUY‘© gwYmaÊ`mgmR>r Am{U S>mB©O Am{U n§Mog‘Ü ò gm‘J«r
{MH$Qy> Z ò `mgmR>r  ........... OmoS>bo OmVmV.
1) {dKQ>Z H$aUmao KQ>H$ 2) ñZohH$ 3) ~§YZH$maH$ KQ>H$ 4) gm¡å`

5) ........... are added to improve the appearance of tablets, flow properties of granules and to prevent

the sticking of the materials to the dies and punches.

1) Disintegrating agents 2) Lubricants

3) Binding agents 4) Diluent

 ‘hËdmMr g§¶wJo /agm¶Zo

1) nmoQ>©b±S> {g‘|Q> H$moUË`m Vmn‘mZmV KQ>H$ OmiyZ V`ma Ho$bo OmVo?
1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

1) Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

2) H§$nZ Ho$boë`m H$m±H«$sQ>gmR>r KgaUrMr H$moUVr loUr ({‘‘r‘Ü ò) ñdrH$mabr OmB©b?
1) 12 Vo 25 2) 50 Vo 100 3) 5 Vo 10 4) 25 Vo 50

2) Which range of slump (in mm) shall be adopted for vibrated concrete ?

1) 12 to 25 2) 50 to 100 3) 5 to10 4) 25 to 50

3) ‘w»` amgm`{ZH$ KQ>H$ åhUyZ ‘moZmoA‘mo{Z`‘ ’$m°ñ’o$Q> Agbobr H$moaS>r amgm`{ZH$ nmdS>a _______ dJm©Mr AmJ
{dPdÊ`mgmR>r dmnabr OmD$ eH$Vo.
1) A, B Am{U C 2) B Am{U C ’$º$ 3) D ’$º$ 4) A Am{U C ’$º$

3) Dry chemical powder having monoammonium phosphate as the main chemical constituent can be

used for extinguishing Class ________ fires.

1) A, B and C 2) B and C only 3) D only 4) A and C only

4) XmVm§À`m n¥ð>^mJmÀ`m ñdÀN>VogmR>r Qy>W~«eÀ`m ‘XVrZo  .......... bmdbo OmVmV.
1) S>pñQ>§J nmdS>a 2) g{O©H$b nmdS>a 3) S|>{Q>{’«$gog 4) BÝgwâboeZ

4) ........... are applied with the help of a tooth brush for cleaning the surface of the teeth.

1)  Dusting powder 2) Surgical powder 3) Dentifrices 4) Insufflations

5) Am°Bb n|Q>‘Yrb ~og Aer H$m }̀ H$aVmo
a) n|Q>bm AnmaXe©H$Vm XoVo.
b) Kf©UmMm à{VH$ma dmT>dVo.
c) g§H$moMZ H«°$H$ V`ma hmoÊ`mg à{V~§Y H$aVo.
darbn¡H$s H$moUVo ’§$ŠeZ ~amo~a Amho/AmhoV?.
1) darb gd© 2) ’$º$ (a) 3) ’$º$ (a) Am{U (c) 4) ’$º$ (b)
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5) A base in an oil paint performs functions such as

a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c) 4) Only (b)

6) ‘moaMyX ho H$moUË¶m AmOmamMo {ZXmZ H$aVmZm aº$ VnmgUrH$[aVm dmnaVmV?
1) ’w$ß’w$gmMm Xmh 2) aº$j¶ 3) {df‘Áda 4) {hdVmn

6) Blue vitriol is used in the blood test for diagnosis of which disease ?

1) Pneumonia 2) Anaemia 3) Typhoid 4) Malaria

7) ______   ‘Ü ò n¥ð>^mJmgh gd© n|Q> KQ>H$ AgVmV.
1) ~mBªS>a 2) gm°ëìh|Q> 3) S´m`a 4) {dñVmaH$

7) A/An ______ holds all paint components together with the surface.

1) binder 2) solvent 3) drier 4) extender

8) Imbrbn¡H$s H$moUVm jma noQ´>mo{b¶‘À¶m ewÕrH$aUmV dmnaVmV?
1) gm~U 2) YwÊ¶mMm gmoS>m 3) {da§OH$ MyU© 4) ImÊ¶mMm gmoS>m

8) Which of the following Salt is used in refining of Petrol ?

1) Soap 2) Washing Soda 3) Bleaching Powder 4) Baking Soda

9) BZ°‘b n|Q²g‘Ü ò H«$m°g-qbHo$O ~m°ÊS²gMr {Z{‘©Vr `mÛmao {Z §̀{ÌV Ho$br OmVo:
1) ’$º$ Vmn‘mZ 2) ’$º$ Am°pŠgS>oeZ
3) ’$º$ B{Z{eEQ>g© 4) Vmn‘mZ, Am°pŠgS>oeZ Am{U B{Z{eEQ>g©

9) The formation of cross-linkage bonds in enamel paints is governed by:

1) only temperature 2) only oxidation

3) only initiators 4) temperature, oxidation and initiators

10) 'AmoH«o$' S>mB©Mm dmna Q>°Qy>‘Ü ò Imbrbn¡H$s H$moUVm a§J XoÊ`mgmR>r Ho$bm OmVmo?
1) H$mim 2) Vn{H$ar 3) amImS>r 4) {Zim

10) ‘Ochre’ dye is used to impart which of the following colors in tattoo marks?

1) Black 2) Brown 3) Grey 4) Blue

11) H°$‘b ~«eZo ngabobr A°ë ẁ{‘{Z`‘Mr Yyi qàQ>À`m {g~°{e`g òmdmbm {MH$Qy>Z amhVo Am{U H$moUË`m àH$maÀ`m
n¥ð>^mJmdarb H$S>çm§Zm R>iH$nUo XmIdVo?
1) hbŠ`m a§JmMr n¥ð>^mJ 2) JS>X a§JrV n¥ð>^mJ
3) gpÀN>Ð n¥ð>^mJ 4) cdMrH$ n¥ð>^mJ

11) Aluminium dust spread over with camel brush, adheres to the sebaceous secretion of the print

and makes prominent the ridges over which kind of surface?

1) Light colored surface 2) Dark colored surface

3) Porous surface 4) Pliable surface
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CÎmao - (2) X¡Z§{XZ dmnamVrb g§̀ wJo - YmVy , AYmVy , jma, B§YZo, dm ỳ, IVo

1) YmVy d AYmVy
1-2 2-3 3-3 4-3 5-2 6-1 7-1 8-4 9-4 10-3
11-2 12-1 13-1 14-3 15-4 16-1 17-2 18-2 19-1 20-2
21-4 22-4 23-1 24-3 25-2 26-3 27-4 28-3 29-2 30-2
31-2 32-4 33-3 34-4 35-1 36-2 37-3 38-4 39-3 40-3
41-3 42-4

7) jma
1-1 2-4 3-1 4-3 5-3 6-2 7-1 8-3 9-3 10-2

11-3 12-2 13-3 14-3 15-1 16-4 17-1 18-3

8) ñ’$moQ>Ho$
1-2 2-3 3-4 4-2 5-2 6-1 7-3 8-2 9-2 10-1
11-4 12-1 13-1 14-2 15-2

9) B§YZo
1-4 2-4 3-4 4-1 5-3 6-2 7-1 8-3 9-1 10-2
11-1 12-1 13-3 14-2 15-3

10) dm ỳ
1-2 2-2 3-1 4-2 5-3 6-1 7-3 8-2 9-1 10-3
11-4 12-4 13-2 14-1 15-3 16-3 17-3 18-2 19-2 20-3
21-4 22-2 23-2 24-3 25-4 26-3

11) H$sQ>H$ZmeHo$, Am¡fYo, {dfÐì¶o

1-3 2-4 3-1 4-3 5-1 6-1 7-2 8-2 9-2

12)  IVo
1-1 2-3 3-1 4-4 5-3 6-1 7-2 8-4 9-3 10-1

11-3 12-4 13-4 14-1 15-1 16-1 17-3 18-3

13)  ‘hËdmMr g§¶wJo /agm¶Zo
1-4 2-1 3-1 4-1 5-3 6-2 7-4 8-3 9-2 10-1
11-2 12-1 13-2 14-1 15-2 16-2 17-2 18-2 19-1 20-3

21-2 22-1 23-2 24-2 25-2
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{dfmar agm¶Zo, H$sQ>H$ZmeHo$
1-2 2-1 3-2 4-2 5-2

 ‘hËdmMr g§¶wJo /agm¶Zo

1-4 2-1 3-1 4-3 5-1 6-2 7-1 8-2 9-2 10-2
11-2


